Cylinder with Lock

- Ll Series CNA

740, 950, 963, 880, 100

Suitable for intermediate stops, emergency stops and drop prevention

. . . CL
|Simple construction | Max. piston speed: 1000mm/s
Increased power from wedge effect due to taper Can be used from 50 to 100 mm/s within the allowable MLGC
ring and steel balls. kinetic energy range.

Taper ring Steel ball

CXS
CXT
MX
MXU
MXS
MXQ
Standard manual override MXE
lock release
Even if air is cut or exhausted, lock release is possible MXW
using a wrench. When override is released, lock is
engaged again as a fail safe. MXP
|High locking effect o E— | MG
High locking effect and stable locking and release are ‘ =
enabled by two rows of precision steel balls (Pressure N MGP

for lock release is 0.25 MPa, a reduction of 0.05 MPa
from conventional SMC product). In addition, both

0 e | ) MGQ
alignability and stable locking force with respect to piston =24
rod eccentricity are obtained by allowing the taperring to float. MGG

: L
i iabili Construction is not effected MGE
High reliability and stable onstruction is not effecte
holding force by air quality MGF
Improved brake shoe material and increased length Locking mechanism is isolated from lock release air,
(twice that of other SMC products) results in a stable so lock function is not diminished by excessive dirt or CY1
holding force and high reliability. drainage in compressed air. MY1
- Possible to lock at
MVariations
Standard variations Locking Bore Standard b o t h en d S
Series | (Action Style || Autoswitch | Spring (mm) stroke Same holding force in extending and
buit-n magnet| W11 129 200t} (mm) retracting directions.

. Single rod 40 |25 to 500 .
Cylinder Series = Compact lock unit
with _Double CNA 25 to 600
Lopk acting Double rod 63 saves SpaCe
Series Series 80 25 t0 700 Lock unit is compact without any projections.
CNA CNAW 100

3.3-1



series CNA/Precautions (D

Refer to p.0-39 to 0-46 for Safety Instructions and actuator cautions and auto switch

2 Be sure to read before handling.
precautions.

Design of Equipment \

Selection

A Warning

(DEquipment should be designed considering safety
of operator from lock cylinder and other moving
parts.

Use a protective cover to avoid risk of injury to operator or
install a sensor for emergency stops before contact occurs.

(@Use balanced air circuit to avoid sudden cylinder
extension.

When the piston rod is locked in the intermediate stroke
position and air is supplied to one side of the cylinder, the rod
moves at high speed when lock is released. In this case,
operator injury and equipment damage can occur. Use a
balanced circuit such as the recommended pneumatic circuit
shown on p.3.3-3 and 3.3-4 to avoid this sudden movement.

Selection \

A Warning

(MDo not apply load with impacts and/or strong
vibrations and rotation forces when locked.

If applied, locking parts will be damaged or operating life will be
reduced.

(@Consider stopping accuracy and over-run distance
when intermediate stop is used.

Piston rod stops a few seconds after stop signal due to
actuation of mechanical lock. This delay results in cylinder
stroke over-run. The difference between minimum and
maximum over-run distance is stopping accuracy.

eConsider over-run distance when setting limit switch
position. Limit switch detection distance a is also a factor
in setting switch position.

eLimit switch needs over-run distance + detection length
for a (dog length).

eOperating range of SMC auto switches is from 8 to 14mm
(depending on switch). If over-run distance exceeds this
operating range, contact holding circuit should be
installed in control circuit.

*Refer to p.3.3-9 for stop accuracy.

Over-run distance

3.3-2

®Change of piston speed

A Warning

(3Stopping accuracy can be improved by reducing the

time from the lock signal to the actual stop.

To improve stopping accuracy, use an electric control circuit
and direct current driven solenoid valve with good response
and place the solenoid valve as close as possible to the
cylinder.

influences stopping
accuracy.

If piston speed changes by a load change or disturbances, etc.
during cylinder stroke, range of stop position will be large.
Maintain stable piston speed just before stop position.

Speed change during cushion process and operation start is
large, so the stop position range will be large.

Mounting

A Warning

(DConnection between rod end and load should be

done in lock released condition.

o|f this connection is done in the lock condition, loads which
exceed rotation and holding forces act on the piston rod. This
damages the lock mechanism. CNA series is equipped with
lock releasing mechanism for emergency, however, connect
the rod end and load in the condition of lock release after
piping supply air pressure of 0.25MPa of more to lock release
port for temporary lock release.

A\ Caution

(DDo not apply eccentric loads on the piston rod.

Pay attention to the center of gravity for the load and cylinder.
When the gap is big, the piston rod may have eccentric friction
and be damaged by the inertia moment when the lock
actuates.

-
5 o —

X Gap between center of gravity of load and center of cylinder

-

O O]

O No gap between center of gravity of load and center of cylinder

Note) It is possible to use in the case when effective guide mechanism
absorbs all created moments.



series CNA/Precautions @

Be sure to read before handling.
Refer to p.0-39 to 0-46 for Safety Instructions and actuator cautions and auto switch
precautions.

] Mounting \

] Pneumatic Circuit

/A Caution

(@Caution for use of basic style or replacing of
support bracket.
Lock parts and cylinder rod cover are mounted as shown in
figure below. Due to this construction, the cylinder cannot be
set directly on the machine by attaching to the tie-rod, such as
mounting of a basic general air cylinder.
When mounting bracket is replaced, tie-rod for mounting
should be tightened as it may be loosened.
Use socket wrench for replacing the mounting bracket or
tightening tie-rod for unit mounting.

Bore Mounting bracket nut Tie-rod for affixing
(mm) Nut ] Socket RCtiEcess Socket
10 JIS B4636
40 MBX125n | o JIS BA4636 2 angle socket 10
5o |[JISBl18lclass3 2 angle socket 13 IS B4636
13 2 angle socket 13
63 M10 X 1.25in 17 JIS B4636 13 JIS B4636
JIS B1181 class 3 2 angle socket 17 2 angle socket 13
M12 X 1.25in JIS B4636 JIS B4636
80, 1001 5551181 class 3| 19 |2anglesocket1s| 17 |2angle socket 17
Tie-rod for affixing unit B Cylinder tie-rod
I I _ i
— 1]
Cover 7 I

Tie-rod for affixing unit A \ Rod cover

22 depth 1mm hole is on the side of tie-rod for attaching unit A.

] Adjustment \

/A Caution

(DAdijust air balance for cylinder. Balance the load by adjusting
the air pressure in the cylinder rod side and head side after the
lock is released when the load is mounted on cylinder. When
you have this air balance, cylinder ejection at lock release can
be avoided.

(2)Adjust mounting position for detection area of auto switch etc..
When intermediate stop is done, adjust the mounting position
for detection stop is done, adjust the mounting position for
detection area of auto switch etc., with consideration of over-
run distance to required stop position.

A Warning

(DUse a pneumatic circuit which applies balanced
pressure to both sides of piston at lock stop.
Use a circuit which applies balanced pressure to both sides of
piston to cancel developed pressure of piston operating
direction by load, and to avoid ejection at manual lock release
or re-starting after lock stop.

(@For solenoid valve for lock release, use a solenoid
valve which has large effective area based on an
effective area which is 50% or more than effective
area of solenoid valve for cylinder actuation.

In case that effective area is large, stopping accuracy is
increased by reducing over-run.

(®Minimize the distance from the lock release solenoid
valve to the cylinder.
When the distance from cylinder is shortened, over-run
decreases and stopping accuracy increases.

@The time period between the intermediate stop and
the lock release should be 0.5 seconds or longer.
If the duration of lock stop is not sufficient, piston rod may
shoot out over the flow control's speed control capacity.

(®Switch signal for solenoid valve for lock release at
re-start should be controlled to proceed or act at
same time as the solenoid valve for cylinder
actuation.

When the signal is delayed, piston rod may eject with speed

which exceeds control speed of speed controller.
(®Basic circuit
1. [Lateral]
Extend
W >V<_ S
SOLA |SOLB|SOLC| Qbettion
Retract \)3} \)3} ON | ON | OFF |Extended
@_ o R.egulator OFF | OFF | OFF |Lock stop :])055
Ej with check| ON | OFF | OFF |Lock release 616055
3 port WQ vahe [0 T on [oFF |Extended |</°°”
Pressue [ oN | OFF | ON |Retracted

A

<] ON | OFF| ON |Retracted

2. [Vertical]
Load along rod extended direction Load along rod retracted direction

S
=

N/

X

SOL.C SOL.B SOL.A SOL.A SOL.C SOL.

AR LY | MAY e ERIA TS

A A

N

Ko %
i

X o S

,_
w

3.3-3

SOL.A SOL.C SOL.B OFF | OFF | OFF |Lock stop j 05—
mzm/\ mﬂ ON | OFF | OF Lockrelease<J;t(;055

o vt



series CNA/Precautions ®

Be sure to read before handling.
Refer to p.0-39 to 0-46 for Safety Instructions and actuator cautions and auto switch
precautions.

] Pneumatic Circuit

Manual Lock Release

/A Caution

(Ditis possible to use a 3 position pressure center solenoid valve

and regulator with check valve instead of two 3 port normally
open valves and relieving style regulator.

Cylinder side Cylinder side
‘@4-]]
Kl @M S
Ll o ®Mjr:}
AR

[Example]
1. [Lateral]

3 Port (N.O.)

SOL.C

Ep Relief
regulator

<

2. [Vertical]
[Load along rod extended direction]  [Load along rod retracted direction]
SoL.C @ }a
< )
=T S
i M T\
SOL.B N Y O m
[Z]Zm SOL.A W{; ;OL.B B
SOL.A ;}'\A mzm;},\,\
A A

3.34

A\ Caution

(DLock release manual override on CNA series is only

for emergencies.

When air supply pressure drops in an emergency, lock release
manual override is used to forcibly push back the release
piston and release the lock for emergency.

Torque required to operate override is high as it is intended
only for emergency use.

(@When lock release condition is required for a long

period during equipment mounting, supply air
pressure of 0.25Mpa or more to the lock release
port.

(3®Do not rotate lock release cam (<on top of release

cam) past "FREE". If the release cam rotates beyond
this point, it may be damaged.

Release piston

Lock release cam

i

i

LS

=

@
U
S

Lock Manual lock release

[Principles]

When lock release cam is rotated counter-clockwise with a
wrench, lock is released after release piston is pushed back.
When cam is released, lever returns to original position and
lock is engaged. If lock release must be maintained, leave the
cam in this position.



Be sure to read before handling.
Refer to p.0-39 to 0-46 for Safety Instructions and actuator cautions and auto switch
precautions.

ISeries CNA/Precautions &

] Maintenance

/\ Caution

(DReplacement of lock unit for CNA series is possible.
To order CNA lock units for maintenace use the part numbers
mentioned below.

3) Supply compressed air of 0.3MPa or more to lock release port,
pull out piston rod assembly.

Bore size (mm) Part No. of lock unit
40 CNA 40D-UA
50 CNA 50D-UA P=0.3MPa
63 CNA 63D-UA
80 CNA 80D-UA
100 CNA100D-UA

(@How to replace lock unit
1) Loosen the tie-rod nut (4 pcs.) on head cover of cylinder by
using socket wrench.
Refer to table below for applicable sockets.

- Width .
B‘E’e 5')19 Nut across Socket 4) Supply compressed air of 0.3MPa or more to lock release port
mm . .
ikl of new lock unit in the same way, replace piston rod assembly
M8 X 1.25in ;
instead of temporary rod.
40, 50 1S B1181 class 2 13 JISB4636 + 2 angle socket 13 porary
M10 X 1.25 in
63 JIS B1181 class 2 17 | JISB4636 + 2 angle socket 17
M12 X 1.75 in
80, 100 JIS B1181 class 2 19 JISB4636 + 2 angle socket 19 P=0.3MPa

5) Reassemble in reverse procedures.

f

’ 3 N
s

3.3-5

o
ce
e
wo_
we
woo_




Series CNA
How to Select

Cautions on Selection

A\ Caution

(DAdjust the load speed so that the load will travel the entire
distance under the max. speed used in the model sizing and
that the entire “travel time” will be greater than the calculated

time.

“Travel time”: Time period that the load moves the entire
distance without intermediate stops.
(@When cylinder stroke is different from moving distance of the
load (Double speed mechanism), use moving distance

load for selection.

Example

v |w

Moving distance
of load

tv

Cylinder
stroke

of the

Example of Selection

-Load weight : m=50kg
-‘Moving distance  : st=500mm
-Moving time 1t=2s

-Load condition

Procedurelll: Calculate the maximum speed of load movement

from graph [1]

~.Maximum speed V=350mm/s

Procedurel: Select graph [6] based on load conditions and
operating pressures. According to the intersection
based on answer in Procedurelll and load weight

m=50kg

-.@64—Decided the tube I.D. CNA63 or more

3.3-6

: Vertical, Down direction = Rod extended direction
-Operating pressure: P=0.4MPA

|Procedure| Calculate Max. Speed of Load Movement V

Calculate max. speed of load movement V(mm/s) according to
load moving time t(s) and moving distance st(mm).

Graph [1]
10
%
5 L5,
4 3096‘[
3 0 ~
Os¢ \\ %
\
Z  [Example \\I—I\\\\
9] L0, NN
£ L \ N
= I NaNINN
£ N | .
3 i
£
]
‘(E 0.5 \: ~
S 04 <
03 | < -
|
0.2 I
I I~
01 v
100 200 300 400 500 1000
Max. speed: V(mm/s)

|Procedure| Select The Graph According to Load Conditions and Operating Pressure.

Calculate the intersection for load weight and max. speed that
was calculated in procedure . Choose the tubing 1.D. which is

located on upper side of this inters

ection.

| Load conditions |

|Operating pressure

Load along perpendicular directio
(*This should be supported by guide.)

[m |

"F

Load along rod retracted
or extended direction

n to the rod

Graph
Graph
Graph [4]
Graph
Graph [6]
Graph



Selection Graphs

How to Select Series CNA

Graph 0.3vPasP<04mpa | Graph 0.3MPa = P < 0.4MPa
1000 ; 1000
500 500
4002100 ! 400
e | =
263 ! 2100
100—a50 100—286 cL
2 w40 | 2 w63
< 50 b | ¥ s0
E % ' | E Zo—o50
5 30 | 2 3 640 NN
g 20 N | N
3 NG N L g ™ N
S 10 1 S 10
2 3 2
3 : 3 CVIMVG
Z i Z
. N CXW
100 200 300 400 500 1000 | | 100 200 300 400 500 1000
Max. speed V(mm/s) | Max. speed V(mm/s) CXS
: CXT
Graph 0.4MPa <P <05MPa | Graph [6] 0.4MPa<P<05MPa L~
1000 | 1000
— 3 MX
B om0 B o
ﬂ 1
300—22 ! 300— MXU
200283 ! 20022200 —
| 850 ! 280 MXS
’\100 @40 ! ’\100 FE3
g 50 | g 50=250 MXQ
£ ‘ £
- 40 ! - 40 40 —
£ 30 b E 30 ~ | IMXE
.g 20 ~( 3 'g 20 I \\ N
2 N ! 2 [Example]
EpP ™ B | S Mxw
1 1 e —
| i  _
a | 2 } MXP
3 ' 3 I —
2 ! 2 I MG
1 1 I
100 200 300 400 500 1000 | 100 200 300 400 500 1000 | [IMGP
Max. speed V(mm/s) 3 Max. speed V(mm/s) —
: MGQ
Graph [4] osmpa<p | Graph 0.5MPa < P
1000 ! 1000 MGG
X 1O :
500—2:86 1 500
200—— ! 400 MGC
300 —263 ! 3002100 -
200—@50 i 200280 MGF
100 240 100283 \
| —_—————
2, = A= CF
f 40 E S0 540 o
£ 30 | § 30 ~
.g 20 NN : 'g 20 \ NBN I —
2 NG N - ~ N
S 10 ! S 10
5 5
4 ! 4
9 : 9
Z 3 Z
1 1
100 200 300 400 500 1000 | 100 200 300 400 500 1000

Max. speed V(mm/s)

Max. speed V(mm/s)

3.3-7



Cylinder with Lock/Double Acting Single Rod

Series CNA

745, 50, 863, 380, 100

How to Order

510

1(130

J lN

50

100

JN

A53

With auto switch

Mounting e——

B Basic Style
L Foot
N Non-lube
F Front flange ~
F Steel tube
G Rear flange
X N * Auto switch not applicable
c Single clevis for steel tube model.
D Double clevis
T | Center trunnion Bore size ®
40 40mm
50 50mm
63 63mm
80 80mm
100 | 100mm

Cylinder stroke (mm) ®

Refer to p.3.3-9 for standard stroke.

Applicable Auto Switches/Rrefer to p.5.3-2 for further information on auto switch.

lNumber of auto switches

= 2
S 1
n n

® Auto switch

‘ None

+ Refer to table below for selection of
applicable auto switch.

® | ock direction
F D ‘Both directions‘

e Option

J Nylon tarpaulin

Rod boot - -
K Heat resistant tarpaulin
— Both ends with cushion on both sides

. N Without cushion

Cushion - - -
R With cushion on rod side
H Rear end with cushion on head side

= When specifying symbol more than one, combine

symbols in

alphabetical order.
Part No. of Cylinder
with Built-in Magnet

5 Load voltage Auto switch symbol | Lead wire (m)* . . . S
swi Special funcii Electrical £ Wiring d - Y (m) Applicable If ordering cylinder with built-in magnet
tyle pecial function entry |2 | (Output) bC Ac | Merod | Band 10513 |5 | joad without auto switch, symbol for auto
= mounting| mounting | (—) [ (L) | (2) . . A
o switch is Nil.
. i onen| —| 5V — A6 | — |@|®@|—|ic| — (Example) CDNALN40-100-D
s 12v — A53 | B53 | @ @@ PLC
< Grommet -
S 100V, 200V | A54 B54 Relay, PL ;
E - 12v ®.®. 8 RwPC  Mounting Bracket Part No.
Z _ ° sv,12v| — A67 | — |e|e|—]ic] pc
=z
8 swire |2av 200Vorless| A4 | B64 | @ |@|— Relay, PLC Refer to p.3.3-10 for part number of
x Terminal 12v — A33C| AS8 | —|—|— PLC mounting bracket except basic style.
conduit @ 100V, 200V A34C A34 — | == |—
DIN connector| > ! A44C A44 — == EE?Y‘
Diagnostic (2 color) Grommet — — A59W | B59W | @ | @ |—
3wire (NPN F59 G59
SWIre(PNP) 2V |V v — F5P | G5P : : 8 '
Grommet vire (PNP)
Dwire || — [100v,200v| J51 — ® e O
- 12v J59 Ks9 | @ |@®@|O
.§ Terminal| 3 wire (NPN) 5V, 12V G3C | G39 | —|—|—|IC
3 conduit 2 wire 12v K39C | K39 | —|—|—|—
) » r FE Relay,
= 3 wire (NPN W '
g , , & |3 wire (NPN) 5V, 12V FSOW | G59 - ®10 0| pic
2 Diagnostic (2 color) 3 wire (PNP) F5PW |G5PW™" | @ | @ | O
=]
= 24v - -
< . > it v J59W ngw* ® e O
Water resistant (2 color)  |Grommet F5BA | G5BA — @O
‘ withtimer 3 wire (NPN) 5V, 12V FSNT GSNT* — @O I
Diagnostic output (2 color) 4 wire F59F | G59F e 0 O
Latch diagnostic output NPN
& oolon) (NPN) — F5SLF | — |@®|®@|O|—

* Lead wire length 0.5m-:---.-..— (Example) A53
L (Example) A53L

-+ Z (Example) A53Z

available for bore size 940, 850.

3.3-8

=*(0": Solid state switch is manufactured upon receipt of order.
«x D-G50W, K59W, G5BA, G59F are not



Cylinder with Lock/Double Acting Single Rod Series CNA

Cylinder Specifications

Bore size (mm) 240, 850, 863, 880, 3100
Fluid Air
Style Non-lube
Action Double acting
Lock operation Spring lock
Proof pressure 1.5MPa
Max. operating pressure, 1.0MPa CL
Min. operating pressure 0.08MPa MLGC
Operating piston speed 50 to 1000mm/s*
Ambient and fluid W?thout auto .switchi —10:C to 70:C (No freezing)
temperature With auto switch  : =10°C to 60°C
Cushion Air cushion —
Allowable stroke tolerance| to 250: *19 251 to 1000: *1¢, 1001 to 1500: *18 CVIMVG
Mounting Bf’:ISiC, Foot., Front flange, .Rear flange, . CXW
Single clevis, Double clevis, Center trunnion
+Load is limited by piston speed, mounting direction and operating pressure at locking. CXS
Lock Specifications CXT
JIS symbol MX
Double acting single rod Style of locking Spring lock (Exhaust lock) L
Lock release pressure 0.25MPa or more MXU
Lock starting pressure 0.20MPa or less T
T Max. operating pressure 1.0MPa MXS
Lock direction Both directions MXQ
Refer to "Allowable min. stroke of auto switch mounting” MXF
Stan d ard StrO keS/ on p.3.3-20 for auto switches. —
MXW
Bore size (mm) Standard stroke (mm) _
40 25, 50, 75, 100, 125, 150, 175, 200, 250, 300, 350, 400, 450, 500 MXP
50, 63 25, 50, 75, 100, 125, 150, 175, 200, 250, 300, 350, 400, 450, 500, 600 MG
80, 100 25, 50, 75, 100, 125, 150, 175, 200, 250, 300, 350, 400, 450, 500, 600, 700 ——
MGP
Stopping Accuracy MGQ
Unit: mm
— MGG
) Operating piston speed (mm/s) - -
Style of locking
100 300 500 1000 MGC
Spring lock =03 +=0.6 +1.0 =20 m—
Condition/Lateral, Supply pressure P = 0.5MPa MGF
Load weight------Top limit of allowable value —
Solenoid valve for locking mounted on locking release port CYl
Maximum value of stop position in measured 100 times
. . . MY1
Holding Force of Spring Lock (Max. Static Load) N
Bore size (mm) 40 50 63 80 100
Holding force (N) 882 1370 2160 3430 5390

3.3-9



Series CNA

Mounting Bracket Part No.

Rod Boot Materials

Bore size (mm) 40 50 63 80 100 Symbol Material Max. ambient temperature.
Foot* CA1-L04 | CA1-LO5 | CA1-LO6 | CA1-LO8 | CA1-L10 J Nylon tarpaulin 70°C
Flange CA1-F04 | CA1-FO5 | CA1-F06 | CA1-FO8 | CA1-F10 K Heat resistant tarpaulin 110°C*
Single clevis CA1-C04 | CA1-CO5 | CA1-C06 | CA1-CO8 | CA1-C10 *Max. ambient temperature is for rod boot unit.

Double clevis** CA1-D04 | CA1-DO5 | CA1-D06 | CA1-D08 | CA1-D10
+#When ordering foot bracket, order 2 brackets per cylinder.
=xClevis pin, plain washer and split pin are packed with double clevis.
Accessories
. . Single Double Center
I 2R Rt ACTHIETD | REETIETES clevis clevis trunnion
Rod end nut ([ ([ o ([ J ([ [ ([
Standard
Pin for clevis - - - - - o -
Single knuckle joint o o [ ] o ] [ J o
Option Double knuckle joint (with pin) o o o ([ J o o o
Rod boot o o o o o o o
Weight/( ): value for steel tube
(kg)
Bore size (mm) 40 50 63 80 100
. 1.70 2.70 4.08 7.30 10.80
Basic (1.75) (2.76) (4.12) (7.46) (11.01)
F 1.89 2.74 4.42 7.97 11.79
oot (1.94) (2.78) (4.46) (8.13) (12.00)
2.07 297 4.87 8.75 12.72
Flange (2.12) (3.01) (4.91) (8.91) (12.93)
Basic weight
inale clevi 1.93 2.86 4.71 8.41 12.58
Single clevis (1.98) (2.90) (4.75) (8.57) (12.79)
ble clevi 1.97 2.95 4.87 8.70 13.10
Double clevis (2.02) (2.99) (4.91) (8.86) (13.31)
T . 2.15 3.05 4.97 9.00 13.20
runnion (2.25) (3.15) (5.17) (9.29) (13.59)
Aluminum tube |Every mounting bracket 0.22 0.28 0.37 0.52 0.65
Additional weight Mounting bracket
for each 50 stroke Steel tube except trunnion 0.28 0.35 0.43 0.70 0.87
Trunnion 0.36 0.46 0.65 0.86 1.07
Single knuckle joint 0.23 0.26 0.26 0.60 0.83
Accessories Double knuckle joint 0.32 0.38 0.38 0.73 1.08
Pin for knuckle joint 0.05 0.05 0.05 0.14 0.19
Calculation example: CNALN40-100-D Base weight oo 1.89 (Foot, 240)
Additional weight -0.22/50 stroke
Cylinder stroke:-------- 100 stroke

1.89 +0.22 X 100 /50 = 2.33kg

Construction/Operation Principles

Brake spring

Steel ball
Ball retainer

Taper ring

Brake shoe Brake piston

Brake shoe holder Pressure supply

|

Pressure exhaust

|

Y

v \\
l N

1 (D.8)
Z

3.3-10 Lock release

S

Spring lock (Exhaust lock):

Spring force acting on the brake piston moves brake
piston and taper ring to the right. Inner surface of
taper ring wedges the two parallel sets of steel balls
against the brake shoe holder and brake shoe. This
force tightens the shoe against the rod and locks it.
To release the rod, air pressure is supplied the
release port. This exerts sufficient force on the
brake piston to overcome the spring force and move
the taper ring to the left. Brake force is released as
taper ring separates from steel balls.




Construction

Cylinder with Lock/Double Acting Single Rod Series CNA

Component Parts

\] \ /

AN

A section (Release piston bushing)

2100 280

S

263 @50

I

240

SN

p

B section (Piston guide bushing)

250, 263, 280, 100

Component Parts

No. Description Material Note No. Description Material Note
® Rod cover Aluminum alloy Black coated after hard anodized @) | Cushionring B Rolled steel Zinc chromated
@ Head cover Aluminum alloy Black coated @ | Cushion valve Rolled steel Nickel plated
® Cover Aluminum alloy Black coated after hard anodized 3 Wear ring Special resin
@ | Cylinder tube Aluminum alloy Hard anodized 3 Plug with Hex. hole Chrome molybdenum steel | Black zinc chromated
® Piston rod Carbon steel Hard chrome plated [€5) Element Bronze
® Piston Aluminum alloy Chromated 36 Piston nut Rolled steel Zinc chromated
@ Taper ring Carbon steel Heat treatment &1 Tie rod nut Carbon steel Black zinc chromated
® Ball retainer Special resin 39 Lock nut Carbon steel Nickel plated
©) Piston guide Carbon steel Zinc chromated 9 Rod end nut Carbon steel Nickel plated
Brake shoe holder Special resin Heat treatment @ | Spring washer Steel wire Black zinc chromated
240 @) | Spring washer Steel wire Black zinc chromated
250 | Aluminum alloy Hard anodized @ | Spring washer Steel wire Black zinc chromated
Brake release .
@ piston 263 @ | Piston seal NBR
280 Carbon steel Zinc chromated @ Rod seal A NBR
2100 @ | Rodseal B NBR
Brake release piston bushing | Steel + Special resin | Hard anodized @® | Release piston seal NBR
Cam for lock release Chrome molybdenum steel | Zinc chromated @ Cushion seal NBR
Washer Carbon steel Black zinc chromated @ | Cushion valve seal NBR
Spring for retainer pre-load | Steel wire Zinc chromated @ | Tube gasket NBR
Brake spring Steel wire Zinc chromated 50 Piston gasket NBR
Clip A Stainless steel 6) | Gasket for piston guide | NBR
Clip B Stainless steel 62 Gasket for release cam NBR
Steel ball A Carbon steel 63 | Oring NBR
Steel ball B Carbon steel
Tooth ring Stainless steel .
Damper Polyurethane rubber Replacement Parts: Seal Kits

C shape snap ring for release cam axis

Carbon steel

C shape snap ring for taper ring

Carbon steel

Brake shoe

Special friction material

Tie rod A for unit attachment

Carbon steel

Electrogalvanized chromated

Tie rod B for unit attachment

Carbon steel

Electrogalvanized chromated

Tie rod

Carbon steel

Electrogalvanized chromated

Bushing

Lead bronze casting

QRN @@

Cushion ring A

Rolled steel

Zinc chromated

Bore size (mm) Parts No. Notes
40 CAIN 40A-PS
50 CA1N 50A-PS
63 CAIN 63A-PS Including No. @3, @), @ and @.
80 CA1IN 80A-PS
100 CA1N100A-PS

+*As a general rule, the lock section of the CNA series is replaced as a unit, and

therefore, the replacement seal kits are for the cylinder section only. These can be
ordered using the order number for each bore size.

3.3-11

CL
MLGC

e
wo_
we
woo_




Series CNA

Dimensions

Basic (B)/CNABN

Rc(PT)B
(PT) _Q Rc(PT)BP lock release port
Plug cap with bleed port GA
) Lock release at pressure supply 4-J
Width across flats KA GD GC Re(PT)P GB Re(PT)P
Across flats B1 /Cylinder port at rod side Cylinder port at head side
MM
e e—— OEze)
o] [\ @ / 2 r‘% ﬁ?
¢<] 51 J/ore —
—
Lo | &8
L= = o | ﬁj—
HY] 1 H |
AL = L
A KM BN N WV‘
H S + Stroke M ac
ZZ + Stroke OB
With rod boot
) ] m
Q @ M
8| ¢ f
h+e¢
ZZ + ¢ + Stroke
(mm)
g?r:e) S‘r"('rfrginge A |AL | B |B1|BN|BP|BQ|C | D|E | F |GA|GB|GC|GD |GL |GL1|GR | H1 J K |KA
40 to 500 30 | 27 60| 22 96| 1/8| 1/8 | 44 | 16 | 32 | 10 85| 15 |52 16 | 12 | 12 | 10 8 |M8 X 1.25 6| 14
50 to 600 35| 32 70| 27 | 108 | 1/4 | 1/8 | 52 | 20 | 40 | 10 95| 17 [56.5| 20 | 13 | 15 | 12 | 11 [M8X 1.25 7| 18
63 to 600 35| 32 86| 27 | 115| 1/4 | 1/4 | 64 20 | 40 | 10 | 102 | 17 |67 20 | 18 12 | 15 | 11 |M10 X 1.25 7 18
80 to 750 40 | 37 | 102| 32 | 139| 1/4| 1/4| 78 | 25| 52 | 14 | 123| 21 |83 20 [ 23 | 18 | 17 | 13 [M12X 1.75| 11 | 22
100 to 750 40 | 37 | 116| 41 | 160| 1/4 | 1/4| 92 | 30| 52 | 14 | 144 | 21 |98 22 | 25| 20| 19 | 16 [M12X1.75| 11 | 26
(mm) With rod boot (mm)
Bore Bore Stroke range
(mm) M MM N P Q H S| T |V |W]|ZzZz (mm) (mm) e f h “ Y4
40 11 | M14X15 | 27 | 1/4| 37t0395| 51 | 1563 |37.5 9 8 215 40 20t0 500 | 43 [11.2| 59 1/4 Stroke 223
50 11 | M18X15 | 30 | 3/8| 42t0445| 58 | 168 |44 11 0 237 50 20t0 600 | 52 [11.2| 66 1/4 Stroke 245
63 14 | M18X 15 | 31 3/8| 50to515| 58 | 182|52.5| 12 0 254 63 20to 600 | 52 |11.2| 66 1/4 Stroke 262
80 17 | M22X15 | 37 | 1/2|595t0625| 71 | 218|59.5| 15 0 306 80 20to 750 | 65 [12.5| 80 1/4 Stroke 315
100 17 | M26X15 | 40 | 1/2 | 665t0695| 72 | 246|69.5| 15 0 335 100 20to 750 | 65 |14 81 1/4 Stroke 344

l With auto switch

CNABN Bore size

3.3-12

---------- SCNA[Bore size|, #1 (#1+#11)



Cylinder with Lock/Double Acting Single Rod Series CNA

Axial foot (L))CNALN

Rc(PT)BP lock release port

GA Lock release at pressure supply
Rc(PT)P
Re(PT)BQ oD GC A :
- Cylinder port at rod side
Plug cap with bleed port o
ST TR
— iz
o AU CL
O ¢
=48 MLGC
TR & ] —
Rc(PT)P
With rod boot E Cylinder port at head side 23
8 ¢ f  AcrossflasBr A K GB Q
MM AL — \ L
1 i @ P R =
o w| o 2 )
8 i vl H ] 7 ' Sl O % [CXW
@ \Z 4-glD T —
- =i H1 35 - : —
D e s el N ol s CXS
h+¢ Width across YILX BN N LT
flats KA H S + Stroke X Y LX CXT
ZZ + ¢ + Stroke 7 LS + Stroke —
0B
ZZ + Stroke MX
MXU
When sltroke exceeds %OOOmm, Long stroke (mm)
mount tie rod support ring. / - o  —
ore roke range
.:.:. P o RT [RY |MXS
1 T  —
= ' ' E? 40 50110800 | — | —
—e] | @ . @ sorioo0 | — [ — MXQ
%ﬂr‘ | © o 49lD 50 001101200 | 30 | 76 MXE
'ﬂ ! I - 4 63 601101000 | — | —
= T T
= ‘ 1001 to 1200 | 40 92 MXW
Y].X RT X |Y 751101000 | — | —
Z LS + Stroke 80 1001 to 1400 | 45 | 112 M XP
ZZ + Stroke 751 to 1000 — —
100 1001 to 1500 | 50 | 136 M G
mm
o MGP
(Er‘;’rf) S‘“’(‘:nerg‘“ge A|AL| B |Bi|BN|BP|BQ|C |D|E|F |GA|GB|GC|GD|GL |GL1|GR| H1 J K [KA ———
40 to 500 30 | 27 60| 22 96| 1/8 | 1/8 44 16 | 32 | 10 85| 15 |52 16 | 12 12 | 10 8 | M8X1.25 6| 14 MGQ
50 to 600 35 | 32 70| 27 | 108 | 1/4 | 1/8 52 20 | 40 | 10 95| 17 |56.5| 20 | 13 | 15 | 12 | 11 | M8X 1.25 7| 18 MGG
63 to 600 35 | 32 86| 27 | 115| 1/4 | 1/4 64 20 | 40 10 | 102 | 17 |67 20 18 12 | 15 11 (M10 X 1.25 7 18
80 to 750 40 | 37 | 102| 32 | 139 | 1/4 | 1/4 78 25| 52 14 | 123 | 21 |83 20 | 23 18 | 17 13 (M12 X 1.75| 11 22 MGC
100 to 750 40 | 37 | 116| 41 | 160 | 1/4 | 1/4 92 30 | 52 14 | 144 | 21 |98 22 25 20 | 19 16 |M12 X 1.75| 11 26
mm
Bore = MGF
(mm) LD |LH | LS|LT |[LX |LY MM N P Q H S T V [W | X |Y Z | ZZ —
40 9 40 | 207 | 3.2 42 70| M14X15| 27 | 1/4 37t039.5| 51 | 153 |37.5 9 8 27 | 13 24 | 244 CYl
50 9 45 | 222|3.2 50 80| M18X 15| 30 | 3/8 42t0445| 58 | 168 |44 11 0 27 | 13 | 31 | 266
63 11.5] 50 | 250 3.2 59 93| M18X15| 31 | 3/8 50to51.5| 58 | 182|52.5| 12 0 34 | 16 | 24 | 290 MYl
80 13.5| 65 | 306 | 4.5 76 | 116 | M22X 15| 37 | 1/2 | 595t0625| 71 | 218 |59.5 | 15 0 44 | 16 27 | 349
100 13.5| 75 | 332| 6.0 92 | 133 | M26 X 15| 40 | 1/2 | 66.5t069.5| 72 | 246 |69.5| 15 0 43 | 17 | 29 | 378
With rod boot (mm)
Bore Stroke range e f h ¢ 77 H With auto switch
(mm) (mm) CNALN|[Bore size] - SCNA[Bore size], #2 (#1+#2+#11)
40 20to500| 43 [11.2| 59 1/4 Stroke 252
50 20to 600 | 52 [11.2| 66 1/4 Stroke 274
63 20to600| 52 |11.2| 66 1/4 Stroke 298
80 20to 750 | 65 [12.5| 80 1/4 Stroke 358
100 20to 750 | 65 |14 81 1/4 Stroke 387

3.3-13



Series CNA

Dimensions

i

Front flange (F)/CNAFN

RC(PT)BP lock release port

GA Lock release at pressure supply
Rc(PT)P
Re(PT)BQ oD oc T
Plug cap with bleed port y|r[1xer portatrod side
= 0]
3 A0
[T AW
o b
=4
w3 © 4
FZ
EX 4-gFD
With rod boot Width across flats KA Rc(PT)P GB 0
Across flats B1 Cylinder port at head side
— .
— = SRS il @'@f S
v o al @’ I = 2 > >
Al — S H ) J S] wijm
@ — Hi1 ] A H N
- -¢h—, t
1 AL
8 ¢ | f A K T
h+¢ FT BN N oc
ZZ + ¢+ Stroke H S + Stroke M OB
ZZ + Stroke
Long stroke
4-gFD
(250 to 2100)
M
- .
M Q} S| =
o] Tl — @ .
S Sl L @ |«
i N —
| = {
]
L2
8l ¢, f z |FT RT FX
h+¢
ZZ + Stroke Fz
ZZ + ¢ + Stroke
(mm)
('?r‘]’r:f) S""('[fr;;"‘ge A |AL| B |B1|BF|BN|BP|BQ| C | D | E |FD|FT|FV|FX|FY|FZ|GA|GB|GC|GD|GL|GL1GR|H1| J
40 t0800 | 30 | 27 | 60| 22| 71| 96| 1/8|1/8 | 44| 16 | 32| 9 |12 | 60| 80| 42 |100| 85| 15|52 | 16| 12| 12| 10| 8 [M8X1.25
50 | to1000 | 35 32| 70| 27 | 81|108| 1/4|1/8 | 52| 20 | 40| 9 |12 | 70| 90| 50 [110| 95| 17 |56.5| 20 | 13 | 15| 12 | 11 [M8X 1.25
63 | t01000 | 35 | 32 | 86| 27 |101|115| 1/4|1/4 | 64 | 20 | 40 |11.5| 15 | 86|105| 59 | 130|102| 17 |67 | 20| 18 | 12| 15 | 11 |[M10X 125
80 | to1000 | 40 | 37 |102| 32 | 119|139| 1/4 |1/4 | 78 | 25 | 52 |13.5| 18 | 102|130| 76 | 160|123| 21 |83 | 20| 23 | 18| 17 | 13 |[M12X 175
100 | to 1000 | 40 | 37 |116| 41 |133|160| 1/4|1/4 | 92 | 30 | 52 |13.5| 18 | 116|150| 92 | 180|144 21 (98 | 22| 25| 20 | 19 | 16 |M12X 175
(mm) With rod boot (mm)
Bore Bore Stroke range
(mm) K |KA| M MM N| P Q H|S|T|V|W|zz (mm) (mm) d|e|f h ¢ Y74
40 6| 14 | 11 |M14X15| 27 | 1/4 | 3710395/ 51 | 153|37.5| 9| 8 |215 40 20t0800 | 52| 43|15 | 59 | 1/4 Stroke | 223
50 7| 18 | 11 |M18X 15| 30 | 3/8 | 42t044.5| 58 | 16844 | 11 | 0 |237 50 20t0 1000 | 58| 52 |15 | 66 | 1/4 Stroke | 245
63 7| 18| 14 |M18X 15| 31 | 3/8 | 50t051.5| 58 | 182|52.5| 12 | 0 |254 63 20t0 1000 | 58| 52 |17.5| 66 | 1/4 Stroke | 262
80 11| 22 | 17 |M22X 15| 37 | 1/2 [59.5t062.5| 71 | 218|59.5| 15 | 0 | 306 80 20t0 1000 | 80 | 65 |21.5| 80 | 1/4 Stroke | 315
100 11| 26 | 17 |M26X1.5| 40 | 1/2 [66.51069.5| 72 | 246(69.5| 15 | 0 | 335 100 20t01000 | 80| 65 |21.5| 81 | 1/4 Stroke | 344
Long stroke (mm)  With long stroke rod boot (mm)
B
Bore | Strokerange | g | pp | FT |FX | FY | FZ |RT |RY| Z | 22 ore | Strokerange | 4 | o | § | ¢ 7z
(mm) (mm) (mm) (mm)
50 |1001t01200 | 88| 9 | 20 |120| 58| 144| 30 | 76| 47 | 241 50 |1001t01200 | 58| 52 |19 | 66| 1/4 Stroke | 240
63 | 1001to 1200 |105|115| 23 | 140| 64| 170| 40 | 92| 48 | 263 63 |1001t01200 | 58| 52 |19 | 66| 1/4 Stroke | 258
80 | 1001to 1400 |124|135| 28 | 164| 84|198| 45 | 112| 59 | 317 80 |1001t01400 | 80| 65 |21 | 80| 1/4 Stroke | 310
100 | 1001 to 1500 | 140 |135| 29 | 180| 100 | 220| 50 | 136| 60 | 347 100 [1001t0 1500 | 80| 65 |21 | 81| 1/4 Stroke | 339

=

With auto switch

CNAFN

3.3-14

SCNA[Bore size|, #3 (#1+#3+#11)



Cylinder with Lock/Double Acting Single Rod Series CNA

Rear flange (G)/CNAGN
Rc(PT)BP lock release port
GA Lock release at pressure supply
Rc(PT)P
Rc(PT)BQ GD GC o(PT) _
Plug cap wih bleed port Cylinder port at rod side CL
ﬁg‘*ﬁ] A ©
_| I
o 17 MLGC
o—t | [ —
R Th
] ]
CB
Re®T)P _ CVIMVG
Cylinder port at head side
. Width across flats KA 4-gFD 4-J
With rod boot GB = CXW
Across flats B1
_ i |\ = ' @@ @@ CXS
—1 x m
o Tl W oi ] @'_' O @ _ W (>|> ﬁE
S| I E— e 8 :L?u 7z ' o / CXT
<5 Hy : ¥ T @
8| ¢ AL MX
h+e F BN N EX MXU
ZZ + ¢+ Stroke H S + Stroke ET E7 —
ZZ + Stroke ‘ MXS
MXQ
MXF
MXW
MXP
(mm) M G
(an.)rf) S""(’r‘neig*”ge A |AL| B |B1|BF|BN|BP|[BQ| C |D | E| F|FD|FT|FV|FX|FY|FZ|GA|GB|GC|GD|GL |GL1|GR| H1 L———
40 0500 | 30 | 27 | 60| 22 | 71| 96| us |18 | 44| 16| 32| 10| 9 | 12| 60| 80| 42 | 100| 85| 15|52 | 16| 12| 12| 10| 8 |[MGP
50 t0o600 | 35| 32 | 70| 27 | 81| 108| 1/4|1/8 | 52| 20| 40| 10| 9 | 12 | 70| 90| 50 | 110| 95| 17 |565| 20| 13 | 15| 12| 11 [———
63 t0600 | 35| 32 | 86| 27 | 101|115| 1/4|1/4 | 64 | 20 | 40| 10 | 115 15 | 86| 105| 59 | 130| 102| 17 |67 | 20 | 18 | 12| 15| 11 MGQ
80 to750 | 40 | 37 |102| 32 | 119|139| 1/4|1/4 | 78 | 25 | 52 | 14 | 135| 18 | 102| 130| 76 | 160| 123| 21 |83 | 20 | 23| 18| 17| 13
100 10750 | 40 | 37 | 116 41 | 133| 160| 1/4 | 1/4 | 92 | 30 | 52 | 14 | 135| 18 | 116| 150| 92 | 180| 144| 21 |98 | 22| 25| 20| 19| 16 |MGG
(mm)
Bore K|KA|[M| MM |N|P H|S|T|V]|w]|zz LGC
(mm) J Q —
40 M8X125| 6| 14 | 11 |M14X15| 27 | 1/4 | 37t0395| 51 | 153|37.5| 9| 8 | 216 MGF
50 M8X125| 7| 18| 11 |M18X 15| 30 | 3/8 | 42to445| 58 | 168[44 | 11| 0 | 238 —
63 | Miox125| 7| 18| 14 |mM18x 15| 31 | 38| 50t0515| 58 | 182|525] 12 | 0 | 255 CYl
80 |M2x175| 11| 22 | 17 |M22X15| 37 | 1/2 |595t0625| 71 | 218(59.5| 15 | 0 | 307 —
100 | M12X175| 11| 26 | 17 |M26X 15| 40 | 1/2 | 665t069.5| 72 | 246|695| 15 | 0 | 336 MY1
With rod boot (mm)
Bore  |Stroke range o f h p 77 I With auto switch
(mm) (mm) CNAGN [Bore size]-++---+- SCNA[Bore size] , #4 (#1+#4+#11)
40 |20to500| 43 [11.2| 59 |1/4 Stroke| 224
50 |20t0600| 52 |11.2| 66 |1/4 Stroke| 246
63 20to 600| 52 [11.2| 66 |1/4 Stroke| 263
80 |[20to750| 65 |12.5| 80 |1/4 Stroke| 316
100 |20to750| 65 |14 | 81 |1/4 Stroke| 345

3.3-15



Series CNA

Dimensions

Single clevis (C)/CNACN

Rc(PT)BP lock release port

Lock release at pressure supply

GA
Re(PTIBQ GD GC Re(PT)P :
- /Cyllnder port at rod size
Plug cap with bleed port
;= i %
3 A
P e i 1
D)
A\ {,/ _( B
w3 ©
Rc(PT)P
Cylinder port at head side 2.3
With rod boot Width across flats KA GB Q
Across flats B1 ™ ZCDHI
P==1
B MM\ == 1 QJ,J &@
Tl | W " @ @ = _
o L Di : : =
[ —a m SIS } >] I
@ _ = H1 = H @ﬁjff@
AL
8l. ¢ |f A K .
h+e F BN N 2
Z + ¢ + Stroke H S + Stroke L ac
ZZ + ¢ + Stroke Z + Stroke RR 0B
ZZ + Stroke
(mm)
(Bn?r:f) S‘“’m")‘”ge A |AL| B |B1|BN|BP|BQ| C |cD| cX D|E|F |GA|GB|GC|GD|GL |GL1|GR| H1
40 to 500 30 | 27| 60| 22 | 96| 1/8| 1/8| 44 | 10 | 15203 16| 32| 10| 85| 15|52 | 16| 12| 12| 10| 8
50 to 600 35| 32| 70| 27 |108| 1/4| 18| 52 | 12 | 18 293 20| 40 | 10 | 95| 17 |56.5| 20 | 13 | 15 | 12 | 11
63 to 600 35| 32| 86| 27 |115| 1/4| 14| 64 | 16 | 25203 20| 40 | 10 | 102| 17 |67 | 20 | 18 | 12 | 15 | 11
80 to 750 40 | 37 | 102| 32 | 139| /4| 1/4| 78 | 20 | 315 203 | 25| 52 | 14 | 123| 21 |83 | 20 | 23 | 18 | 17 | 13
100 to 750 40 | 37 | 116| 41 | 160| 1/4| 1/4| 92 | 25 | 35593 | 30| 52 | 14 | 144| 21 |98 | 22| 25 | 20 | 19 | 16
(mm)
ETI J K |KA | L MM N | P Q HIRR|S|T|Uul|lV | w]|z|zz
(mm)
40 M8X125| 6 | 14 | 30 | MI4X15 | 27 | 1/4| 37t0395| 51 | 10 [153 [37.5| 16 | 9 | 8 | 234| 244
50 M8X125| 7 | 18 | 35 | M18X 15 | 30 | 3/8| 42to445| 58 | 12 |168 |44 | 19 | 11 | 0 | 261| 273
63 M10X125| 7 | 18 | 40 | MI8X15 | 31 | 3/8| 50to515| 58 | 16 182 [52.5| 23 | 12 | O | 280| 296
80 MI12X175 | 11 | 22 | 48 | M22X15 | 37 | 1/2|595t0625| 71 | 20 218 [59.5| 28 | 15 | 0 | 337| 357
100 M12X175 | 11 | 26 | 58 | M26X 1.5 | 40 | 1/2| 665t0695| 72 | 25 |246 |69.5| 36 | 15 | 0 | 376| 401
With rod boot (mm)
Bore Stroke range R ; h . 7 | 2z H With auto switch
(mm) (mm) CNACN |Bore size]-+--- SCNA[Bore size], #5 (#1+#5+#11)
40 20t0500 | 43 |11.2 | 59 1/4 Stroke 242| 252
50 20t0 600 | 52 [11.2 | 66 1/4 Stroke 269| 281
63 2010600 | 52 [11.2 | 66 1/4 Stroke 288| 304
80 20t0 750 | 65 [12.5| 80 1/4 Stroke 346 | 366
100 20t0750 | 65 |14 | 81 1/4 Stroke 385| 410

3.3-16



Cylinder with Lock/Double Acting Single Rod

Series CNA

Double clevis (D)/CNADN

Rc(PT)BP lock release port

Lock release at pressure supply

5 GA Rc(PT)P
Re(PT)BQ GD GC Cylinder port at rod side
Plug cap with bleed port
= =/ — )
3| _|eD
3'\ ( \ Rc(PT)P ‘ ra(?D hole H10 CL
¥ {H [/ ¥ Cylinder port at head side / Axis d9
Width across flats KA 0}
: T W& GB Q 4-3
With rod boot Across flats B1 MLGC
MM - @ -
"m% \\ T — 4@1}; 1 CNA
8 Ta w D¢ 1] @' - = 8
— § ® H 5] ol |CB
& L @ =
r - e Hi f— .
AL ‘ ‘ CVIMVG
8| ¢ |f A K- BN N U T
h+e = CX CXW
Z + ¢ + Stroke H Z + Stroke L cz
Strok Z + Stroke RR CXS
ZZ ¥ ¢+ Stroke ZZ + Stroke oB
(mm)
B Strok CXT
(n?r’ne) “};;ﬁ"ge A |AL| B |B1|BN|BP|BQ| C [cD| cX |cz|D |E |F |GA|GB|GC|GD|GL |GL1GR|H1| J K |KA
40 t0500 | 30| 27| 60| 22| 96| /8| 1/8| 44| 10| 15333 |205| 16| 32| 10| 85| 15|52 | 16| 12| 12| 10| 8| MBX125| 6| 14 MX
50 t0600 | 35| 32| 70| 27|108| 1/4| 1/8| 52| 12| 1833 |38 | 20| 40| 10| 95| 17 |565| 20| 13| 15| 12| 11| M8x125| 7| 18
63 10600 | 35| 32| 86| 27 |115| 1/4| 1/4| 64| 16| 25133 |49 | 20| 40| 10 |102| 17|67 | 20| 18| 12| 15| 11 |mi0Xx125| 7| 18 MXU
80 to750 | 40| 37 | 102| 32|139| 1/4| 14| 78| 20| 315353 61 | 25| 52| 14 |123| 21|83 | 20| 23| 18| 17 | 13 |Mmi2x175 | 11| 22
100 t0750 | 40 | 37 | 116| 41| 160| 1/4| 1/4| 92| 25| 35559364 | 30| 52| 14 | 144| 21|98 | 22| 25| 20 | 19 | 16 |M12X175 | 11| 26 MXS
(mm) With rod boot (mm) MXQ
Bore Bore | Stroke range L =
(mm) L MM N [ P Q RR|S|T|U|V | W|H| Z|ZZ (mm) (mm) e | f h ¢ Z |22 ———
40 | 30 |[M14X15| 27| 1/4| 37t0395| 10| 153|37.5| 16 | 9| 8 | 51| 234| 244 40 | 2010500 | 43 |112| 59 | vaswoke | 242| 252 |MXF
50 | 35|M18X15| 30| 3/8| 42t0445| 12 | 168/44 | 19| 11| 0 | 58| 261| 273 50 [20t0600| 52 |112| 66| 1/4Stoke | 269| 281
63 | 40 |[M18X15| 31| 3/8| 50t0515| 16 | 182|525 23 | 12| 0 | 58| 280| 296 63 |20t0600| 52 |112| 66 | 1/4Stoke | 288 304 MXW
80 | 48 |M22X15| 37| 1/2(595t0625| 20 | 218|59.5| 28 | 15 | 0 | 71| 337 357 80 |20t0750| 65 [12.5| 80 | 1/4 Stoke | 346/ 366
100 | 58 |M26X 15| 40| 1/2|665t069.5| 25 | 246(69.5| 36 | 15 | 0 | 72 | 376| 401 100 |[20t0750 | 65|14 | 81| 1/4Stoke | 385| 410 MXP
l With auto switch M G
CNADN [Bore size] - SCNA[Bore size], #6 (#1+#6+#11)
MGP
Double Clevis Pivot Bracket S
Material: Cast iron @®The strength is same as cylinder support bracket. MGQ
Surface treatment: Black coating —
Z + Stroke (Max.)W1 B MGG
DX el
- @DDH10 hole ke ke
EN - ‘{é&’jﬁ 1 ,‘1\2," 002 B M G C
e e —
it Sl b Bl - o MGF
Cemmm - LTI BEE ST E A -
E\r;&:&: gH/E’!: %) L
Rt i cY1
T T T :
T I —
DU DL \ DU DO DC DO MYl
DA, \4-eDR DE R
(mm) Rotation angle
Bore Bore o o [po . Ro o
Part No. (mm) DA (DL |DU |DC |DX |DE |DO |[DR | DT |DS [DH [DF | B |W1| Z DD (mm) A B° [A°+B°+90
CA1-BO4| 40 | 57| 35|11 | 65|15 | 85|10 17 40 | 52 | 60| 10 | 234 | 10*30%8 40
CA1-BO5| 50 | 57| 35|11 | 65|18 | 85|10 17 40 | 52 | 70| 10 | 261 | 12*307° 50
CA1-BO6| 63 | 67| 40 |135| 80 |25 |105|125(11 | 22| 10| 50 | 66 | 85| 10 [280| 165070 63 12° | 60° | 162°
CA1-B08 80 93 | 60 |16.5(100 |31.5|130 [15 [135| 24 | 12 | 65 | 90 [102 | 12 | 337 | 20738 80
CA1-B10| 100 93 | 60 |16.5]|100 |35.5|130 |15 [135| 24 | 12 | 65 | 90 | 116 | 12 | 376 | 25%5084 100

Note) 1. There is no mention in cylinder part no. 2. Order it separately from cylinder.

ACCESSOrY ++vvnt SCNA

, #9

3 Pin, retainer, etc. of female rear clevis, male rear clevis are shipped with cylinder.

3.3-17



Series CNA

Dimensions

Center trunnion (T)/CNATN

Rc(PT)BP lock release port

Lock release at pressure supply

GA Rc(PT)P
Re(PT)BQ D GC Cylinder port at rod side
Plug cap with bleed port 4 P
==z - o
T TR
o [N/
. S AN
With rod boot hid O - fo
] 6 Rc(PT)P
Width across flats KA i g S A Cylinder side at head side
Z + ¢+ 1/2 stroke Across flats B1 7 + 1/2 stroke GB 4-J
MM S
P==% — 1 1
. \ — ——{ | y - 0
m‘ \ L':Fu Iy —— 3
ol —T5 Q = @©H 1A A se N Ty >
b [ — o 8 A % ' T | Sy -
& | ] @ Wil B &
- - L f = —— 7 N
AL _|| [T Shs —— i
8| ¢ f A K T oc
i F BN o N OB
+
ZZ + ¢ + Stroke H troke X
Z7Z + Stroke
TZ
(mm)
(‘if;f) 3”°("nﬁnf)’”ge A |AL| B |B1|BN|BP|BQ|C |D | E | F |GA|GB|GC|GD|GL |GL1|GR| H: J K |[KA| MM | N
40 | 25t0500 |30 | 27 | 60| 22 | 96| 1/8|1/8 |44 | 16 |32 |10 | 85| 15 (52 | 16|12 |12 |10 | 8 |M8X1.25 14 |M14 X 1.5| 27
50 |25t0600 | 35 |32 | 70| 27 |108|1/4 |1/8 |52 | 20 | 40 | 10 | 95| 17 |565| 20 | 13 | 15 | 12 | 11 |M8X 1.25 18 |M18 X 1.5| 30
63 | 32t0600| 35| 32| 86|27 |115|1/4 |1/4| 64 | 20 | 40 | 10 |102| 17 |67 | 20 | 18 | 12 | 15 | 11 [M10X1.25 18 |[M18 X 1.5| 31
80 |41to750 | 40 | 37 |102| 32 [139| 1/4 | 1/4 | 78 | 25 | 52 | 14 |123| 21 (83 | 20 | 23 | 18 | 17 | 13 |[M12X1.75| 11 | 22 |[M22 X 1.5| 37
100 | 45t0750 | 40 | 37 |116| 41 |160| 1/4 | 1/4 | 92 | 30 | 52 | 14 |144| 21 |98 | 22| 25 | 20 | 19 | 16 |[M12X1.75| 11 | 26 [M26 X 1.5| 40
(mm) With rod boot (mm)
Bore Bore | Stroke range
@m | P Q S| T | TDe8 |[TT|TX|TY|TZ|V |W|H | Z |2zz (mm) mm | € f | h ¢ zZ |2z
40 | 1/4 | 3710395|153 |37.5| 159932 | 22 | 85| 62|117| 9 | 8 | 51 | 162|209 40 |25t0500| 43 |11.2| 59 |1/4 Stroke| 170| 217
50 |3/8| 42t0445|168 |44 | 150932 | 22 | 95| 74|127| 11 | O | 58 | 181|232 50 |25t0600| 52 [11.2| 66 |1/4 Stroke| 189| 240
63 |3/8| 50t0515[182 [52.5 | 183932 | 28 [110| 90|148| 12 | 0 | 58 | 191 |248 63 |32t0600| 52 |11.2| 66 |1/4 Stroke| 199| 256
80 |1/2 |595t0625(218 |59.5 | 2520043 | 34 [140|110|192| 15 | 0 | 71 | 231|296 80 |41to750| 65 |12.5| 80 [1/4 Stroke| 240| 305
100 | 1/2 | 66510695246 | 695 | 25093 | 40 |162|130|214| 15 | 0 | 72 | 255|326 100 |45t0750| 65 |14 | 81 |1/4 Stroke| 264 335
With auto switch
[N cnaTN[Bore size] oo SCNA|[Bore size], #7 (1#+#7+#11)
Trunnion Pivot Bracket
Material: Cast iron @ The strength is same as cylinder support bracket.
Surface treatment: Black coating TE
o TO X TO
o
Z + 1/2 stroke 4-9TT =
I
a
B N =l - Uit 1 T =
T — R &
J’ i ! F-F I N }
e & T ,
Gt e b L =
[ S 4 L i i L
=2 : S Hy ONIE
STu_______ B - =~ To__ 1 =
[ R
TU TL TU %)
'_
TA 4-9TR
(mm)
Note)1.There is no mention in cylinder part
Part No. (Erfrf) TA|TL [TU|TC [T |TE|TO|TR|TT |TS|TH|TF|TY Wi | 2 | TD e vindere
70070 2.Order it separately from cylinder.
CAL-S04 40 80| 60 | 10 102 | 85|119| 17 | 9 | 17 | 12| 45| 60| 62| 10 | 162| 15%% 3.Two trunnion support brackets are
50 80| 60 | 10 |112| 95|129| 17 | 9 | 17 | 12| 45| 60| 74| 10 | 181 15%°3°7° needed per one cylinder.
CA1-S06 63 100| 70 | 15 |130 |110 | 150| 20 |11 | 22 | 14 | 55 | 73| 90| 10 | 191| 188%™
80 120| 90 | 15 | 166 |140 | 192| 26 |13.5| 24 | 17 | 75 | 100| 110| 12 | 231| 25%§%%*
CA1-S08 Yo
100 |120| 90 | 15 | 188|162 | 214| 26 |135| 24 | 17 | 75 | 100| 130| 12 | 255| 25%3

3.3-18



Series CNA

Accessory Dimensions

Y Type Double Knuckle Joint

|

* Pin, retainer, etc. for double clevis and double knuckle joint are shipped with cylinder.

Slotted pin

ND:6? Material: Cast iron (mm)
Plain washer i f ;
MM PartNo.| 2951 | AqlE1{L1| MM [RRi/UL|ND| NX |Nz| L |Slotted pin |Plain washer
Y I (mm) size size
— Y-04C| 40 22|24 |55 | M14X 15 |13 |25 |12 | 16!33|38 555 | 83X 18¢ M'EQE%RU CL
— XTN
w| ZIZ =
) Y-05C| 50,63 |27|28|60|M18X 15 |15|27 |12 | 16703 |38 |55.5 | @3 X 18¢ M'g(‘)\lé’m}u
Al Ul Y-08C| 80  |37(36 |71|M22x15 |19 28|18 | 28153 |55 |765 | eax2se |MIAMRY
L1 - -
N Y-10C| 100  |37|40 (83| M26X 15 |21|38|20 | 30.33|61 |83 | ax25e [MOAGRY
&
E N @ + Knuckle pin, slotted pin and washer are included.
Pin for Clevis/Pin for Knuckle Joint
Material: Carbon steel (mm) CXT
2-gd 3 Bore size d |Used slotted | Used plai
plain
g Part No. Clevis Nuckle Dd9 L ¢ m through arill pin washer 7M X
| | ——
17 1 CDP-2A 40 — 100092 | 46 38 4 3 23 X 18¢ ['MIGAKIVARU" Posh 10 MXU
) ) CDP-3A 50 (40,50, 63| 12053 | 555 | 475 4 3 23 X 18¢ ['MIGAKIMARU" Polsh 12
CDP-4A 63 — 163058 | 71 61 5 4 @4 X 25¢  ['MIGAKIMARU" Polsh 16 MXS
m [4 CDP-5A = 80 183058 | 7655 | 66.5 5 4 @4 X 25¢ |'MIGAKIMAR® Polish 18
L CDP-6A 80 100 203%% | 83 73 5 4 @4 X 25¢ ['MIGAKIVIARU" Polsh 20 MX
CDP-7A | 100 = 2509 | 88 78 5 4 @4 X 36¢ 'MIGAKIMARU' Polsh 24 Q
MXF
| Type Single Knuckle Joint Rod End Nut (Standard option) MXW
H10 5
MM gND 20° 1. MXP
o N I
e d VG
g ol ’
]
/ —+-1+-9 o MGP
AL u1 NX é | -
L1 MGQ
MGG
Material: Sulful free-cutting steel (mm) Material: Rolled steel material (mm) /——
part| Boresize | o |a11E1{L1| MM |R1|UL| ND | NX PartNo.| BOrésize d H B c o MGC
No. (mm) (mm) e —
1-04| 40 69 | 22|24 55| M14X 1.5 |155|20 | 12*5°7| 16233 NT-04 40 M14 X 1.5 8 22 25.4 21 |MGF
I-05| 50,63 | 74|27|28|60| M18X 15 |155 |20 | 12°3°7°| 16203 NT-05| 50, 63 M18 X 1.5 11 27 31.2 26 —
1-08| 80 9137|3671 | M22X 1.5 22526 | 18737 | 28333 NT-08 80 M22 X 1.5 13 32 37.0 a1 |CY1
I-10| 100 |105 37|40 (83| M26X 15 |24.5|28 | 20759 | 30253 NT-10 100 M26 X 1.5 16 41 47.3 39 I/
- MY1

Accessory

SCNA [Bore size], #9

3.3-19




Series CNA
Auto Switch Specifications

Refer to p.5.3-2 for details on auto switch.

Applicable Auto Switch

L

Auto Switch Mounting Bracket Part No.

Style | Auto switch model No. Electrical entry/Function Model No. of Bore size (mm)
D-B5/B6 2| Grommet auto switch 40 50 63 80 100
D-B59W 5| Grommet (2 color indication) D-A5/A6
S | D-A30 ; Terminal conduit D-A59W
E D-A44 S| DIN terminal D-FS0ISL o a a A i
% T E; D-F50W/J59W BT-04 BT-04 BT-06 BT-08 BT-08
3 -A5/, £ Grommet D-F5NT
& | D-A59W é Grommet (2 color indication) D-F5BAL/F500F
- =3 i T
D-A30C g Terminal conduit D-A3/AdA
D-A44C = DIN terminal D-G39/K39 BD1-04M | BD1-05M | BD1-06M | BD1-08M | BD1-10M
D-G500/K59 o Grommet D-B5/B6
D-G5NT £ | Grommet (With timer) D-B59W
D-G500W/K59W é Grommet (2 color indication) D-G50/K59 BA-04 BA-05 BA-06 BA-08 BA-10
5 D-G5BAL i Grommet (2 color, Water resistant) g'ggBDx\II_/KSQW
— _ I . . . -
% D-G59F @ | Grommet (2 color, With diagnostic output) D-G59F/G5NTL
o | D-G39/K39 Terminal conduit
g D-A3CC/A44
» | D-F50/350 o |_Grommet D 62981(395 BA3-040 | BA3-050 | BA3-063 | BA3-080 | BA3-100
° £ - a
= D-F5NTL £ | Grommet (With timer) -
o S — * Mounting bracket for D-A3CJC, A44C, G39C, K39C are attached.
@ | D-FSOW/I59W g Grommet (2 color indication) When ordering, specify the part no. according to cylinder size.
D-F5BAL g | Grommet (2 color, Water resistant) (Example) g40----D-A30]C-4, g63--D-A30]C-6, 100----D-A3CIC-10,
= . R - 250----D-A30C-5, 80----D-A30C-8
D-FS0F i“:’ Grommet (2 color, With diagnostic output) When new mounting bracket is needed, order it as above part no.
D-G39C/K39C Terminal conduit

# It is not possible to mount D-G500W, K59W, G5BA, G59F for bore size 40, 250.

A Caution Minimum stroke to be able to mount depends on mounting support
style of cylinder and switch style. Especially note it for center
trunnion style. (Refer to below table for minimum stroke to be able
to mount the cylinder.)

Minimum Strokes for Auto Switch Mounting

n: Number of auto switches

n: Number of auto switches

— Nao.tgf Mounting :’;ﬁCke‘ Center trunnion style . Nao-tgf Mounting tb;acket Center trunnion style
. u except for - u except for
switches | center trunnion | 240,850 263 280 2100 switches | center trunnion | 940,950 263 280 ‘ 2100
With 2 N | Different
D-A5 (Different and same) 15 90 100 110 120 s : 35 75 80 90
D-A6 With 1 = [Sameside| 100 100 100 100
B:JF?S n 15+55@ 90+55@ 100+551"2'—4)110+551”2'—4) 120+55@ D-A3 Different | 35+30(n-2) | 75+30(n-2) | 80+30(n-2) 90+30(n-2)
(Same side)| o 4 6 g, .. n=4,8, 12, 16--| n=4,8, 12, 16| n=4, 8, 12, 16--| n=4, 8, 12, 16 B:Egg £ |mounting|n=2, 3, 4, - |172,4,6,8, - |n=2,4,6,8, - n=2,46,8, -
i 2 E _ 1100+100(n-2) _
(Dlﬁerents!ge)and 20 90 100 110 120 Same side| 534 ... 100+100(n-2), n=2, 4, 6, 8, -
same side T
D-A59W n o [o0+55 2 0455 100455 (T noess (1) 140455 (14) With 1 10 75 80 90
(Same) |- 46,8, - |n=4,8, 12, 16--| n=4,8, 12, 16| n=4,8, 12, 16-- | n=4,8, 12, 16-- | ecens 35 75 80 90
With 1 15 90 100 110 120 = |same side 55 75 80 90
With 2 .
D-F50W | itorntand Different | 35+30(n-2) | 75+30(n-2) | 80+30(n-2) 90+30(n-2)
RETN v B 110 120 130 140 D-A44 | E|mounting|n=2,3,4, - |n=2,4,6,8, - [n=2,4,6,8, - n=2,4,6,8, -
D-F5BA Z
D-F50F n 25+55@ ]_10+55Eéi) 120+55@ 130+55Eéi) 140+55@ = — 55+50(n-2) | 75+50(n-2) | 80+50(n-2) 90+50(n-2)
D-FSNTL |(Same side)| ., 4 6 g, .. |n=4,8,12, 16~ | n=4,8,12, 16 |n=4,8, 12, 16-- | n=4, 8, 12, 16~ n=2,3,4, |n=2,4,6,8  n=2,4,6,8, - n=2,4,6,8,
D-B5 g Different 15 90 100 110 With 1 10 75 80 90
D-B6 2| Ssame 75 90 100 110 _‘;‘ Different 20 75 80 90
D-G50 N " " . = -
BIKES Different 195()@ 90+50 (-4 100+50¥ 110+50@ 2 |sameside] 100 100 100 100
BZESE\AV/V gmoummg 1=2,4,6,8, - |n=4,8, 12, 16~ |n=4,8, 12, 16-- n=4,8 12, 16-- D-A30C | |Different | 20+35(n-2) | 75+35(n-2) | 80+35(n-2) 90+35(n-2)
D-GEBAL || same | 75+50(n-2) | 90+50(n-2) [100+50(n-2) 110+50(n-2) D-G39C | £|mounting|n=2, 3, 4, -2 46,8, |n=2,4,6,8, - n=2,4.68 -
D-G59F side | n=2,3,4, - n=2,4,6,8 -~ n=2,4,6,8, =2, 4 8 ), = DK39C H 100+100(n-2) 100+100(n-2), n=2, 4, 6, 8
- + n-. N n=. ,4,6,8, -
D-GONTL ™ iin 1 10 90 100 110 SAMe 1n=2,3,4,5, - -2
~Ipifferent| 20 90 100 110 With 1 10 75 80 90
S| same 75 20 100 110 ~pifferent| 20 75 80 90
Different 20+5o@ 90+50£nz'—4) 100+50@ 110+50@ 2| Same 55 75 80 90
i < ti i} _ _ ,
D-B59W £ mounting n=2,4,6,8, - |n=4,8,12,16-- [n=4,8, 12, 16~ n=4, 8, 12, 16-- Dlﬁer?nt 20+35(n-2) | 75+35(n-2) | 80+35(n-2) 90+35(n-2)
< [mountin = e n= o |In= =
3 same | 75+50(n-2) | 90+50(n-2) [100+50(n-2) 110+50(n-2) DA |2 9|n=2,3.4,|n=246,8, - |n=2.4,68, I Ch Gh G
n=2,3,4, - |n=2.4,6,8 - |n=2,4,68, - n=2,46.8, - 2| same |[55+50(n-2) | 75+50(n-2) | 80+50(n-2) 90+50(n-2)
With 1 15 90 100 110 side n=2, 3, 4, ---[n=2,4,6,8, - [n=2,4,6,8, - n=2,4,6,8, -
With 1 10 75 80 90

3.3-20




Auto Switch Specifications Series CNA

Auto Switch/Proper Mounting Position and Height for Stroke End Detection

<Band mounting>

<Tie rod mounting>

D-B5/B6 D-A5/A6
D-B59W Auto switch D-A59W Auto switch
—— = 7 =
I $ A e e i %@1
, i ? { S
Alls]| 27 B 3| * B
D-A3 D-A30C
D-G39/K39 D-G39C/K39C
G(PF)1/2
GPRIL2 (Suitable cable O.D. 26.8 to #9.6) Auto switch
(PF) A__ 49 B
(Suitable cable O.D. 26.8 to 29.6)
B -Hs NiE ]
P | 1
= . - 8 . — —
I : -8 [ ! * - - —
I al
== - * T & _ 7
36 B .36 |
Auto switch
D-G500/K59 D-F501/J50 MX
D-G500W/K59W D-F5NTL .
D-G5BAL . D-F500W/J59W MXU
D-G59F/G5NTL Auto switch D-F5BA/F50F Auto switch =HS —
i MXS
- £ ! -— - E———r—— I| ) F ———
e s e G E0
N = ] \
* H u N/ T\
Allzs ] S B 30 MXF
A | (33) B L
#( ): D-FSLF MXW
D-A44 D-A44C MXP
G(PF)1/2
( - ) Auto switch MG
(Suitable cable O.D. 6.8 to 811.5)
G(PF)1/2 A .. 495 ~-B MGP
(Suitable cable O.D. 6.8 to g11.5)
= HS MGQ
j:ﬂ & N MGG
--Q ! ¥ + - $7 — - E—
wn
: - MGC
36 —
| MGF
Auto switch I
Auto Switch Mounting Position (mm) Auto Switch Mounting Height (mm) CY1
D-B5/B6 —
Auto Auto D-F50
: N ’ D-B59W
switch D-AS/AG |D-BS/B6 D-Gs0 D-F50W switch D_GE5>9|:| D-J59 MYl
model [DA3, A3TC [ D-G5OW D-K59 D-J59W model [D-K59 | D-A3 D-A5  |p-F50w | D-A30C I
D-A44, A44C| D-K59W | D-B59W|D-GSNTL |D-AS9W| ) Fepy ) | D-FSNTL D-G5NTL| D-G39 | D-A44 |D-A6  |D-J59W |D-G39C |D-A44C
D-G39, G39C| D-G5BAL D-F50 D-GSOW| k39 D-A59W/|D-F5BAL | D-K39C
D-F500F D-K59W D-F50IF
D-K39, K39C| D-G59F D-J50 D-G5BAL
D.GE9 D-F5NTL
Bore Bore
(mm) A|B|A|B|A|B|A|B|A|B|A|B|A|B (mm) Hs Hs Hs |[Hs|Ht [Hs| Ht | Hs |Hw | Hs |Hw
40 |0 |o |o5|0 |35/ 152 [0 |4 |2 |105| 85[115| 95 40 38 725 80.5 |40 |31 |38.5\31 |73 | 69|81 | 69
50 [0 |0 [05]|0 |35/ 152 [0 |4 |2 |105| 85/11.5/ 9.5 50 | 435 78 86  [43.5|35 [42.535 |785| 77|865| 77
63 [25(15(3 |2 |6 |5 [45|35] 65| 5513 |12 |14 [13 63 50.5 85 93 |49 |42 |48 |42 |855| 91|935| 91
80 |6 |4 |65 (45| 95| 758 |6 [10 | 8 |16.5/14.5/17.5/155 80 59 935 | 1015 [55.550 |54 |50 |94 |107[102 |107
100 |75|65(8 |7 |11 |10 |95 |85 [11.5/10.5/18 |17 |19 |18 100 69.5 104 112 |63 |57.5/62 |57.5[104 |121[112 |121

+ Long stroke is available only for foot style and rod flange style mounting support.

3.3-21



Cylinder with Lock/Double Acting Double Rod

Series CNAW

745, 50, 863, 380, 100

How to Order

N 510—1(1)0 JN—D
N|[50—100||JNF-D—AS53

l Number of
auto swithes
With auto switch _ 2
S 1
Double rod style n n
Mounting e—— ® Auto switch
B | Basic ‘ — ‘ None
Style ® , —
L Eoot * Select applicable auto switch in
N Non-lube below table.
F Front flange = . .
, F* | Steel tube ® Lock direction
T Center trunnion
« Steel tube is not available D ‘ Both directions
with auto switch capability.
Bore size ® ¢ Option
J Nylon tarpaulin
=0 40mm Rod boot - -
50 50mm K Heat resistant tarpaulin
63 63mm — | With cushion on both sides
80 80mm ) N Without cushion
Cushion - - -
100 100mm R With cushion on rod side
H With cushion on head side
Cylinder stroke (m m) b * When symbol is more than one, suffix in alphabetical order.
Refer to “Standard stroke” table on p.3.3-23
Part No. of Cylinder
Applicable Auto Switch/Rrefer to p.5.3-2 for further information on auto switch. with Built-in Magnet
5 Load volt Auto switch model |Lead wire (m)" ) . . o
Stvle Special function Electrical % Wiring RN OUOZWIC mode cad wire (m) Applicable If ordering cylinder with built-in magnet
L P entry | S| (Outpu) DC Ac | Tierod | Band 1053 |5 load without auto switch, symbol for auto
£ mounting| mounting |(—) | (L) | (Z) 5 ) |
o switch is Nil.
wire
o | Eivoney | —| 5V — A56 — | ®|@®@|—|IC — (Example) CDNAWLN40-100-D
> 12v — | A53 | B53 |@|@|@| | Pc
5 Grommet) | 12v_[100v,200v| A54 | B54 | @ |@|@| |Relay,PLC
= — 2 Sviizv] — | A67 | — |@|@|—|iC| PC Mounting Bracket Part No.
S . =200V | A64 B64 | @ |@®|— Relay, PLC
5o 2 wire |24V
2 Terminal 12v — |A33C| A33 |—|—|— PLC Refer to p.3.3-24 for part number of
conduit | o 100V, 200V A34C | A34 |—|—|—|— mounting bracket except for basic style.
DIN connector| >~ ' A44C Ad4 — | == Eﬁ?y’
Diagnostic indicator (2 color) (Grommet — — A59W | B59W | @ | @ |—
ire (NPN
2W'_re(PNP) 24v|sv, 12v| — Fs9 ((;552 : : 8 IC
Grommet wire (PNP) F5P 5|
Swire | —_—— |100v,200v| J51 — (@ @O
- 12v J59 Ks9 | @ (@O
2 Terminal | |3 Wwire (NPN) 5V, 12v G39C| G39 |—|—|—]|Ic
2 conduit 2 wire 12v K39C | K39 |—|—|—|—
o % [3wire (NPN) Fsow [Gsow™ [ @ |@|O Relay,
= . - SE——4  |sv,12v Ic | PLC
= D|agn(ozstclgl|gr(;|cator 3wiire (PNP) F5PW |G5PW** | @ | @ | O
= awire |2 1oy — | 59w |K59W* | @ | @ |O
(% Water resistant (2 color)  |Grommet F5BA | G5BA™ | — |@ |O
. With timer 3 wire (NPN) 5V, 12V F5NT | G5NT | — |@|O I
Diagnostic output (2 color) 4 wiire F59F | G59F™ | @ |@ |O
Latch style diagnostic output NPN
2 colon (NPN) — FSLF| — | @ |®@|O|—
* Lead wire length symbol 0.5m::---- — (Example) A53
3Mmeeeeees L (Example) A53L * Solid state switch marked O is manufactured upon receipt of order.

15111 EERERERD Z (Example) A53Z =% D-G5W, K59W, G5BA, G59F are not available for bore size 40, 250.

3.3-22



Cylinder with Lock/Double Acting Double Rod Series CNA

Cylinder Specification

Bore size (mm) 240, 250, 963, 880, 8100
Fluid Air
Style Non-lube
Action Double acting
Lock operation Spring lock
Proof pressure 1.5MPa [
Max. operating pressure 1.0MPa CL
Min. operating pressure 0.08MPa MLGC
Operating piston speed 50 to 1000mm/s* .
Ambient and fluid Without auto switch: —10°C to 70°C No freezin
temperature With auto switch  : —10°C to 60°C ( 9)
Cushion Air cushion
Allowable stroke tolerance to 250: *§°, 251 to 1000: *§*, 1001 to 1500: 58 CVIMVG
Mounting bracket Basic, Axial foot, Front flange, Center trunnion CXW
* Load is limited by piston speed, mounting direction, operating pressure at locking. CXS
Lock Specifications CXT
JIS symbol D
Double acting MX
Double rod Lock style Spring lock (Exhaust lock)
Lock release pressure 0.25MPa or more MXU
Lock starting pressure 0.20MPa or less _
i Max. operating pressure 1.0MPa MXS
Lock direction Both directions MXQ
Refer to “Allowable min. stroke of auto switch mounting” MXF
Standard Strokes/ on p.3.3-20 for auto switches. —
MXW
Bore size (mm) Standard stroke (mm) MXP
40 25, 50, 75, 100, 125, 150, 175, 200, 250, 300, 350, 400, 450, 500 -
50, 63 25, 50, 75, 100, 125, 150, 175, 200, 250, 300, 350, 400, 450, 500, 600 MG
80, 100 25, 50, 75, 100, 125, 150, 175, 200, 250, 300, 350, 400, 450, 500, 600, 700 | ————
MGP
Stopping Accuracy MGQ
Unit: mm MGG
_ Operating piston speed (mm/s) L
Locking style
100 300 500 1000 MGC
Spring lock 0.3 +0.6 1.0 2.0 —
Condition/Lateral, Supply pressure P=0.5MPa MGF
Load weight----Top limit of allowable value
Solenoid valve for locking mounted on locking release port CYl
Maximum value of stop position in measured 100 times
. _ _ MY1
Holding Force of Spring Lock (Max. static load) —
Bore size(mm) 40 50 63 80 100
Holding force (N) 882 1370 2160 3430 5390

3.3-23



Series CNAW

Mounting Bracket Part No.

Rod Boot Materials

Bore size (mm) 40 50 63 80 100 Symbol Rod boot material Max. ambient temperature
Foot™ CA1-L04 | CA1-LO5 | CA1-L06 | CA1-LO8 |CA1-L10 J Nylon tarpaulin 70°C
Flange CA1-F04 | CA1-FO5 | CA1-F06 | CA1-FO8 | CA1-F10 K Heat resistant tarpaulin 110°C*
+* When ordering foot bracket, order 2 brackets per cylinder. * Max. ambient temperature of rod boot unit.
Accessories
Mounting Basic Foot Flange Trunnion
Rod end nut o o o o
Standard gy, for clevis — — — —
Single knuckle joint [ J o [ J [ J
Option | Double knuckle joint ® (] [ ([
Rod boot o o o o
* Refer to p.3.3-19 for optional bracket dimensions of CNA double acting: single rod style.
Weight/( ): value for steel tube
(kg)
Bore size (mm) 40 50 63 80 100
. 1.84 2.93 4.34 7.76 11.50
Basic (1.89) (2.99) (4.38) (7.92) (11.71)
F 2.03 2.97 4.68 8.43 12.49
oot (2.08) (3.01) (4.72) (8.59) (12.70)
Basic weight
221 3.20 5.13 9.21 13.42
Flange (2.26) (3.24) (5.17) 9.37) (13.63)
. 2.29 3.28 5.23 9.46 13.90
Trunnion (2.39) (3.38) (5.43) (9.75) (14.29)
Aluminum tube | Every mounting bracket 0.30 0.40 0.50 0.71 0.92
Additional weight i
9 Mounting bracket 0.35 0.47 0.55 0.89 115
for each 50 stroke Steel tube except trunnion
Trunnion 0.44 0.58 0.77 1.06 1.35
Single knuckle joint 0.23 0.26 0.26 0.60 0.83
Accessories Double knuckle joint 0.32 0.38 0.38 0.73 1.08
Pin for knuckle joint 0.05 0.05 0.05 0.14 0.19
Calculation example: CNAWLN-40-100-D  Base weight---------- 2.03 (Foot, 240)

3.3-24

Additional weight---0.03/50 stroke
Cylinder stroke:--:-100 stroke
2.03 +0.30 X 100 /50 = 2.63 kg




Construction

Cylinder with Lock/Double Acting Double Rod Series CNA

3 6 B®O®G

+

Wz ]

136012 @

Component Parts

n

gl

NN

A section (Release piston bushing)
2100 280 @63

B

250 @40

A

|

250, 963, 280, 2100

Component Parts

L}ms 31

B section (Piston guide bushing)

Tie rod

Carbon steel

Electrogalvanized chromated

= As a general rule, the lock section of the CNA series is replaced as a unit, and
therefore, the replacement seal kits are for the cylinder section only. These can be

No. Description Material Note No. Description Material Note
® | Rod cover Aluminum alloy Black coated after hard anodized @0 | Cushionring A Rolled steel Zinc chromated
@ Rod cover Aluminum alloy Black coated ]) Piston rod B Rolled steel Zinc chromated
® | Cover Aluminum alloy Black coated after hard anodized @ | Cushion valve Rolled steel Nickel plated
@ | cylinder tube Aluminum alloy Hard anodized 33 | Plug with hex. Hole Chrome molybdenum steel | Black zinc chromated
® Piston rod A Carbon steel Hard chrome plated 39 Element Bronze
® Piston Aluminum alloy Chromate &) Bushing Lead bronze casting
@ | Taperring Carbon steel Heat treatment @ | Tierod nut Carbon steel Black zinc chromated
® Ball retainer Special resin &y Lock nut Carbon steel Nickel plated
©) Piston guide Carbon steel Zinc chromated 3® Rod end nut Carbon steel Nickel plated
0 Brake shoe holder Special steel Heat treatment 39 | Spring washer Steel wire Black zinc chromated
240 @ | Spring washer Steel wire Black zinc chromated
250 | Aluminum alloy Hard anodized @) | Piston seal NBR
@ i;izie piston 263 @ | Rod seal A NBR
280 ) @ | Rod seal B NBR
Carbon steel Zinc chromated
2100 @ Release piston seal NBR
(@) Brake release piston bushing | Steel + Special resin| Hard anodized @ Cushion seal NBR
@3 | Cam for lock release Chrome molybdenum steel | Zinc chromated @ | Cushion valve seal NBR
1 Washer Carbon steel Black zinc chromated @) Tube gasket NBR
@ | Spring for retainer initial pressure| Steel wire Zinc chromated @® Piston gasket NBR
i Brake spring Steel wire Zinc chromated @ Gasket for piston guide NBR
@ | ClipA Stainless steel 60 Gasket for release cam NBR
@ | clipB Stainless steel 6) | Oring NBR
9 Steel ball A Carbon steel
EG Steel bé” 8 Car_bon steel Replacement Parts: Seal Kits
() Tooth ring Stainless steel
@ Damper Polyurethane rubber Bore size (mm) Parts No. Note
@) | Snap ring for release cam axis | Carbon steel 40 CAIN 40A-PS
@9 | Snap ring for taper ring | Carbon steel 50 CAIN 50A-PS
5 Brake shoe Special friction material 63 CAIN 63A-PS Including No. @, @, @ and @.
2 Tie rod A for unit attachment | Carbon steel Electrogalvanized chromated 80 CAIN 80A-PS
27 | Tierod B for unit attachment | Carbon steel Electrogalvanized chromated 100 CAIN100A-PS
@
@

Bushing

Lead bronze casting

ordered using the order number for each bore size.

3.3-25

CL

MLGC

e
wo_
we
woo_

MY1



Series CNAW

Dimensions

B as | C (B)/ Rc(PT)BPlock release port
CNAWB N Re(PT)BQ Lock release at pressure supply
Plug cap with bleed GA Rc(PT)P
Width across flats KA GD Ge Cylinder port at rod SIdZB " ECEPZ)P - 4-]
. Across flats B1 | yiinder po W
With rod boot MM & A MM 1 L;
_ 4\ — / 1 y n
el ] e I ] e Bl o\
g ) \ o Y Vai T L ol ﬁ%
[ 4 hd * 7
ol o Lo | © S, E 4
- ] il 3 | | —
H1 { — | E
8l ¢ |f AL || [IE] Ll N F | |LAL
h+¢ M BN K A i \4
ZZ + ¢ + 2 stroke A K oc
With rod boot at both ends 0B
77 + 2 ¢ + 2 stroke H S + Stroke H + Stroke
ZZ + stroke
(mm)
5;’;% S”‘Ekn‘jrgnge A |AL| B |B:|BN|BP|BQ|C | D|E | F |GA |GB|GC|GD |GL [GL1|GR | H J K | KA
40 to 500 30 | 27 | 60| 22 96 | 1/8 | 1/8 | 44 | 16 | 32 | 10 85 | 15 |52 16 |12 |12 | 10 8 | MBX125| 6 | 14
50 to 600 35 | 32 70 | 27 | 108 | 1/4 | 1/8 | 52 20 | 40 | 10 95| 17 |56.5| 20 | 13 | 15 | 12 11 | M8 X 1.25 7 | 18
63 to 600 35 | 32 86| 27 |115| 1/4 | 1/4 | 64 20 | 40 | 10 | 102 | 17 |67 20 | 18 | 12 | 15 11 |M10 X 1.25 7 | 18
80 to 750 40 | 37 |102 | 32 |139 | 1/4 | 1/4 | 78 | 25 | 52 | 14 |123 | 21 |83 20 | 23 | 18 |17 | 13 |[M12X1.75| 11 | 22
100 to 750 40 | 37 | 116 | 41 | 160 | 1/4 | 1/4 | 92 30 | 52 | 14 | 144 | 21 |98 22 | 25 | 20 | 19 16 |[M12X1.75| 11 | 26
(mm) With rod boot (mm)
Bore Bore Stroke range 7 | ZZ
(mm) M MM N P Q H S| T V | W |ZZ (mm) (mm) e f h ¢ (one) | @oth)
40 11 | M14X15| 27 | 1/4 | 37t039.5| 51 | 153 |37.5 8 | 255 40 20to 500 | 43 [11.2 | 59 |1/4 Stroke | 263 | 271
50 11 [ M18X 15| 30 | 3/8 | 42t044.5| 58 | 168 |44 11 0 | 284 50 20t0 600 | 52 |11.2 | 66 |1/4 Stroke | 292 | 300
63 14 | M18 X 15| 31 | 3/8 | 50to 51.5| 58 | 182 |52.5| 12 0 | 298 63 20t0 600 | 52 |11.2 | 66 |1/4 Stroke | 306 | 314
80 17 | M22X15| 37 | 1/2 |59.5t062.5| 71 | 218 |59.5 | 15 0 | 360 80 20to 750 | 65 [12.5| 80 |1/4 Stroke | 369 | 378
100 17 | M26X 15| 40 | 1/2 |66.5t069.5| 72 | 246 |[69.5| 15 0 [390 100 20to 750 | 65 |14 81 |1/4 Stroke | 399 | 408
AXial foot (L)/ GA Rc(PT)BP lock release port (Lock release at pressure supply)
CNAWL N Rc(PT)BQ GD GC Rc(PT)P cylinder port at rod side
Plug cap with bleed o
— O
&ﬁ p A
6 /NPT / Rc(PT)P
b é _\/ Cylinder port
6‘ H + Stroke 4-]
. A K W & GB
With rod boot v AL TLE E € :L 2
\ r—h i MM Y
\ L [FP @ L E= =wi =
- #dfﬁF [a)
! =0 S e A Tpted .
H1 B =
| Across flats Bl
i} v i KA width across flats | ="
hte [v[ x BN N x v T |
ZZ + ¢ + 2 stroke H S + Stroke LX
With rod boot at both ends LS + Stroke \w 0oc
ZZ + 2 ¢+ 2 stroke 77 + 2 stroke 0B
(mm)
(‘fﬁr:; S"grkrfn'%”ge A |AL| B [B:|BN|BP|BQ|C | D | E | F |GA|GB|GC|GD|GL |GL:|GR| H: J K |KA|LD|LH|LS|LT
40 to500 (30| 27| 60| 22| 96|1/8|1/8| 44 | 16 | 32 |10 | 85| 15 (52 |16 |12 | 12 | 10 8 |IM8X125| 6| 14| 9 |40 |207| 3.2
50 to600 | 35|32 | 70| 27 (108 |1/4|1/8| 52 | 20 | 40 |10 | 95| 17 |56.5| 20 | 13 | 15 |12 |11 |M8X1.25| 7 |18 | 9 |45 [222|3.2
63 to600 | 35|32 | 86|27 |115|1/4|1/4| 64 | 20 | 40 | 10 |102 | 17 |67 |20 |18 |12 |15 |11 |[M10X125| 7 | 18 |11.5| 50 |250| 3.2
80 to750 | 40 | 37 (102| 32 (139 | 1/4 | 1/4| 78 | 25 | 52 | 14 |123| 21 |83 |20 |23 | 18 | 17 | 13 [M12X1.75| 11 | 22 |135| 65 (306 | 4.5
100 to 750 | 40 | 37 |116| 41 |160 | 1/4|1/4[ 92 | 30 | 52 | 14 |144| 21 |98 |22 |25 |20 |19 |16 [MI12X1.75| 11 | 26 |135| 75 |332| 6.0
(mm) With rod boot (mm)
Bore Bore |Stroke range 77| ZZ
(mm) LX|LY MM N |P Q H|S|T|V | W|X|Y|ZZ (mm) (mm) e | f h ¢ P
40 42 | 70 (M14 X 15| 27 |1/4 | 37t039.5| 51 |153 |37.5 8 | 27 | 13 | 255 40 20to500| 43 |11.2| 59 1/4 Stroke | 263| 271
50 50 | 80 |M18X 1.5| 30 |3/8 | 42to445| 58 (168 (44 |11 | O | 27 | 13 | 284 50 |20to600| 52 |11.2| 66 1/4 Stroke | 292 300
63 59 | 93 (M18 X 1.5/ 31 |3/8 | 50t051.5| 58 |182 |52.5| 12 0 | 34|16 | 298 63 20to 600| 52 |11.2| 66 1/4 Stroke | 306| 314
80 76 (116 (M22 X 1.5| 37 |1/2 [59.5t062.5| 71 |218|59.5| 15 | O | 44 | 16 | 360 80 20to 750| 65 |12.5| 80 1/4 Stroke | 369 378
100 92 133 |M26 X 1.5| 40 | 1/2 |66.5t069.5| 72 [246 |69.5| 15 | O | 43 | 17 [390 100 [20to750| 65 (14 | 81 1/4 Stroke | 399| 408

Bl cNAWBN[Bore sizel
CNAWLN [Bore size]

3.3-26

... SCNA[Bore size|, #8 (#8+#11)

Add foot bracket (#2) to ~SCNA[Bore size|, #8 (#8+#11)



Cylinder with Lock/Double Acting Double Rod Series CNA

Fro nt ﬂ an g e (F)/ GA Rc(PT)BP lock release port (Lock release at pressure supply)
CNAWEFEN Rc(PT)BQ GD GC Rc(PT)P cylinder port at rod side
Plug cap with b|eed£ / v
3 A °©
0 AW 4-3
I{ C Rc(PT)P £z
@g © = Cylinder port X 4-oFD
O]
Width across flats KA L= GB Q
*q Across flats B1 — MM CL
i w) G =/ Eropac T
gl —TRlllc Q1 T @’ g B '(koim z] %ﬁh f > > MLGC
 — ) S H @ ! |y 8 < ﬂ = [ I
@ U Hi —1 ¢ =
v AL || 5 " AL
8, ¢ |f ALK b T
h+e FT| BN K A oc
77 + ¢ + 2 stroke H S + Stroke H +Stroke 0B
With rod boot at both ends ZZ + Stroke
ZZ + 2 ¢+ 2 stroke CVIMVG
(mm)
(‘iflf[f) S"‘(’fﬁ[:fg‘ge A |AL| B |B: |BF|BN|BP|BQ| C | D | E |FD|FT|FV|FX|FY|FZ|GA|GB|GC|GD|GL |GL1|GR| H1 J CXW
40 to500 |30 |27 | 60|22 | 71| 96|1/8 |1/8 |44 |16 32| 9 [12 | 60| 80| 42 |100| 85| 15|52 |16 |12 | 12| 10| 8 [M8X1.25 CXS
50 to600 |35 |32 | 70|27 | 81)|108|1/4 |1/8 |52 |20 | 40| 9 [12 | 70| 90| 50 [110| 95| 17 |56.5] 20 | 13 | 15 | 12 | 11 [M8 X 1.25
63 to600 | 35|32 | 86|27 |101|115|1/4 |1/4| 64 | 20 | 40 [11.5| 15 | 86|105| 59 |130|102| 17 |67 20| 18 | 12 | 15 | 11 |[M1I0X1.25 CXT
80 to 750 |40 |37 [102| 32 |119|139|1/4 |1/4| 78 | 25 | 52 [13.5| 18 |102|130| 76 |160|123| 21 |83 20 | 23| 18 | 17 | 13 [M12X1.75
100 to 750 | 40 | 37 |116| 41 [133160|1/4 |1/4| 92 | 30 | 52 |13.5| 18 |116|150| 92 |180|144| 21 |98 | 22 | 25| 20| 19 | 16 [M12X 175
(mm)  With rod boot (mm) MX
Bore Bore |Stroke range 7 | ZZ
(mm) K |KA| M MM N|P Q H|S|T|V|W|Zz (mm) (mm) d|e|f h ¢ (©One) | (Both) MXU
40 6|14 | 11 [M14X15| 27 |1/4 | 37t039.5| 51 |153|37.5] 9 | 8 |255 40 20t0 500| 52 | 43 |15 59 | 1/4 Stroke | 263 | 271 [———
50 7|18 | 11 [M18X 15| 30 |3/8 | 42t0445| 58 |168(44 | 11 | 0 |284 50 [20to600| 58 | 52 |15 | 66 | 1/4 Stroke | 292 | 300 MXS
63 7|18 | 14 (M18X 15| 31 |3/8 | 50to51.5| 58 |182|52.5| 12 | 0 [298 63 [20to600| 58 | 52 [17.5| 66 | 1/4 Stroke | 306 | 314
80 11| 22 | 17 |[M22X 15| 37 | 1/2 |59.5t0625| 71 |218(59.5| 15 | 0 |360 80 20to 750| 80 | 65 |21.5| 80 | 1/4 Stroke | 369 | 378 MXQ
100 11|26 | 17 [M26X 15| 40 | 1/2 |665t069.5| 72 |246|69.5| 15 | 0 |390 100 |20to750| 80 | 65 [21.5| 81 | 1/4 Stroke | 399 | 408
Center tru nnion (T)/ GA Rc(PT)BP lock release port (Lock release at pressure supply) MXF
CNAWTN Rc(PT)BQ GD GC Rc(PT)P cylinder port at rod side
Plug cap with bleed x MXW
[ == O —eee
&% 3 AT
With rod boot 2 Y/ MXP
@ {?’ ~\(. Rc(PT)P —
. | o "
Width across IfIatsBKA <%7 6 Cylinder port 9 M G
Across flats B1 R 1 _ L
Z +¢+Yostroke Z + 1/2 stroke cB 4-J = —
M = M% ° MGP
- \ 4~—§:~_:}— = y
| : S| TosT [0 gt =K MGQ
. — R £ ] ]
§ CHIlE == = © 51112l = > MGQ
R I R E RIS L R O Voo
- = Nm= == = 1
‘8 T AL S NN AL | MGG
A K 1T, N oc L
h+¢ 2 BN e K A ] —
ZZ + ¢ + 2 stroke o MGC
With rod boot at both ends H S + Stroke H + Stroke T L
ZZ + 2 ¢+ 2 stroke ZZ + 2 Stroke 1Z _
(mm) IMGF
(Br;’r;e) S‘r‘(";srﬁ;“’e A |AL| B | B:|BN|BP|BQ|C |D | E | F |GA|GB|GC|GD|GL |GL:|GR| H:i| J KI|KA| MM [N |P ————
40 25t0500| 30 | 27 | 60| 22 | 96| 1/8|1/8 | 44 | 16 | 32 |10 | 85|15 |52 |16 |12 |12 | 10 8 [M8X 125 6| 14 IM14X 15| 27| 1/4 CYl
50 25t0600| 35 | 32 | 70| 27 |108| 1/4|1/8 | 52 | 20 | 40 | 10 | 95| 17 [565]| 20 | 13 | 15 | 12 | 11 |[M8X1.25] 7| 18 IM18 X 1.5/ 30 | 3/8
63 32t0600| 35 | 32 | 86| 27 |115|1/4|1/4 | 64 | 20 | 40 | 10 |102| 17 |67 |20 | 18 |12 | 15 | 11 |[MIOX1.25 7| 18 |M18X 1.5/ 31| 3/8 MYl
80 41to750| 40 | 37 [102| 32 |139|1/4|1/4 | 78 | 25 | 52 | 14 [123| 21 |83 |20 | 23 |18 | 17 | 13 |[M12X1.75| 11| 22 [M22X 15| 37| 1/2
100 4510 750| 40 | 37 |116| 41 |160| 1/4|1/4 ]| 92 | 30 | 52 | 14 [144| 21 |98 |22 | 25 |20 | 19 | 16 |[M12X1.75] 11 | 26 |[M26 X 1.5| 40 | 1/2

(mm) With rod boot (mm)

(‘fr‘]’rrne) Q |s|T|Tpes |TT|TX|TY|TZ|V |W|H|Z]|2Zz (E:T?rf) S"‘()frfrﬁ)"ge e|f|h ¢ (Ofe) (cz)nze) (Bfm) (éﬁ)
40 371039.5/153 (37.5/ 15905 |22 | 85| 62| 117| 9| 8 | 51 |162] 255 40 [25t0500| 43 [11.2| 59 | 1/4 Stroke | 170 | 263 | 170 | 271
50 4210445168 |44 | 15982 |22 | 95| 74| 127/ 11| 0 | 58 |181|284 50 |25t0600| 52 |11.2| 66 | 1/4 Stroke | 189 | 292 | 189 | 300
63 50t0515|182 |52.5| 181055 | 28 [110| 90| 148| 12| 0 | 58 |191| 298 63 |32t0600| 52 |11.2| 66 | 1/4 Stroke | 199 | 306 | 199 | 314
80 [59.5t062.5|218|59.5| 2500;3 | 34 |140[110|192| 15| 0 | 71 |231 360 80 |41to750| 65 [12.5| 80 | 1/4 Stroke | 240 | 369 | 240 | 378
100 [665t069.5| 246 |69.5| 2558 | 40 |162]130| 214| 15| 0 | 72 | 255|390 100 |45t0750| 65 |14 | 81 | 1/4 Stroke | 264 | 399 | 264 | 408

B cNAWFN[Bore size] o Add flange bracket (#3) to ~SCNA[Bore size], #8 (#8+#11)
CNAWTN|Bore size] - Add trunnion bracket (#7) to —~SCNA[Bore size], #8 (#8+#11) 3.3-27



World Wide & SMC Support...

North American Branch Offices For a branch office near you call: 1-800-SMC-SMC1 (762-7621)

SMC Pneumatics Inc. (Atlanta)
1440 Lakes Parkway, Suite 600
Lawrenceville, GA 30043

Tel: (770) 624-1940

FAX: (770) 624-1943

SMC Pneumatics Inc. (Austin)
2324-D Ridgepoint Drive
Austin, TX 78754

Tel: (512) 926-2646

FAX: (512) 926-7055

SMC Pneumatics Inc. (Boston)
Zero Centennial Drive

Peabody, MA 01960

Tel: (978) 326-3600

Fax: (978) 326-3700

SMC Pneumatics Inc. (Charlotte)
5029-B West W.T. Harris Blvd.
Charlotte, NC 28269

Tel: (704) 597-9292

FAX: (704) 596-9561

SMC Pneumatics Inc. (Chicago)
27725 Diehl Road

Warrenville, IL 60555

Tel: (630) 393-0080

FAX: (630) 393-0084

SMC Pneumatics Inc. (Cincinnati)
4598 Olympic Blvd.

Erlanger, KY 41018

Tel: (606) 647-5600

FAX: (606) 647-5609

SMC Pneumatics Inc. (Cleveland)
2305 East Aurora Rd., Unit A-3
Twinsburg, OH 44087

Tel: (330) 963-2727

FAX: (330) 963-2730

SMC Pneumatics Inc. (Columbus)
3687 Corporate Drive

Columbus, OH 43231

Tel: (614) 895-9765

FAX: (614) 895-9780

SMC Pneumatics Inc. (Dallas)
12801 N. Stemmons Frwy, Ste. 815
Dallas, TX 75234

Tel: (972) 406-0082

FAX: (972) 406-9904

SMC Pneumatics Inc. (Detroit)
2990 Technology Drive
Rochester Hills, Ml 48309

Tel: (248) 299-0202

FAX: (248) 293-3333

SMC Pneumatics Inc. (Houston)
9001 Jameel, Suite 180

Houston, TX 77040

Tel: (713) 460-0762

FAX: (713) 460-1510

SMC Pneumatics Inc. (L.A.)
14191 Myford Road

Tustin, CA 92780

Tel: (714) 669-1701

FAX: (714) 669-1715

SMC Pneumatics Inc. (Milwaukee)
16850 W. Victor Road

New Berlin, WI 53151

Tel: (414) 827-0080

FAX: (414) 827-0092

SMC Pneumatics Inc. (Mnpis.)
990 Lone Oak Road, Suite 162
Eagan, MN 55121

Tel: (651) 688-3490

FAX: (651) 688-9013

SMC Pneumatics Inc. (Nashville)
5000 Linbar Drive, Suite 297
Nashville, TN 37211

Tel: (615) 331-0020

FAX: (615) 331-9950

SMC Pneumatics Inc. (Newark)
3434 US Hwy. 22 West, Ste. 110
Somerville, NJ 08876

Tel: (908) 253-3241

FAX: (908) 253-3452

SMC Pneumatics Inc. (Phoenix)
2001 W. Melinda Lane

Phoenix, AZ 85027

Tel: (623) 492-0908

FAX: (623) 492-9493

SMC Pneumatics Inc. (Portland)
14107 N.E. Airport Way

Portland, OR 97230

Tel: (503) 252-9299

FAX: (503) 252-9253

SMC Pneumatics Inc. (Richmond)
5377 Glen Alden Drive

Richmond, VA 23231

Tel: (804) 222-2762

FAX: (804) 222-5221

SMC Pneumatics Inc. (Rochester)
245 Summit Point Drive

Henrietta, NY 14467

Tel: (716) 321-1300

FAX: (716) 321-1865

SMC Pneumatics Inc. (S.F.)
85 Nicholson Lane

San Jose, CA 95134

Tel: (408) 943-9600

FAX: (408) 943-9111

SMC Pneumatics Inc. (St. Louis)
4130 Rider Trail North

Earth City, MO 63045

Tel: (314) 209-0080

FAX: (314) 209-0085

SMC Pneumatics Inc. (Tampa)
8507-H Benjamin Road

Tampa, FL 33634

Tel: (813) 243-8350

FAX: (813) 243-8621

SMC Pneumatics Inc. (Tulsa)
10203 A East 61st Street
Tulsa, OK 74146

Tel: (918) 252-7820

FAX: (918) 252-9511

Europe

ENGLAND

SMC Pneumatics (U.K.) Ltd.
GERMANY

SMC Pneumatik GmbH
ITALY

SMC Italia SpA

FRANCE

SMC Pneumatique SA
HOLLAND

SMC Controls BV

SWEDEN

SMC Pneumatics Sweden AB
SWITZERLAND

SMC Pneumatik AG
AUSTRIA

SMC Pneumatik GmbH
SPAIN

SMC Espana, S.A.

IRELAND

SMC Pneumatics (Ireland) Ltd.
Asia

JAPAN

SMC Corporation

KOREA

SMC Pneumatics Korea Co., Ltd.
CHINA

SMC (China) Co., Ltd.

HONG KONG

SMC Pneumatics (Hong Kong) Ltd.
SINGAPORE

SMC Pneumatics (S.E.A.) Pte. Lid.
PHILIPRPINES

SMC Pneumatics (Philippines), Inc.
MALAYSIA

SMC Pneumatics (S.E.A.) Sdn. Bhd.
TAIWAN

SMC Pneumatics (Taiwan) Co., Ltd.
THAILAND

SMC Thailand Ltd.

INDIA

SMC Pneumatics (India) Pvt., Ltd.
North America

CANADA

SMC Pneumatics (Canada) Ltd.
MEXICO

SMC Pneumatics (Mexico) S.A. de C.V.

South America

ARGENTINA

SMC Argentina S.A.

CHILE

SMC Pneumatics (Chile) Ltda.

Oceania

AUSTRALIA

SMC Pneumatics (Australia) Pty. Ltd.
NEW ZEALAND

SMC Pneumatics (N.Z.) Ltd.

SMC offers the same quality and engineering expertise in many other pneumatic components

Valves

Directional Control Valves
Manual Valves

Mufflers

Exhaust Cleaners

Quick Exhaust Valves

Valves
Proportional Valves
Mechanical Valves
Miniature Valves
Fluid Valves

Rotary Actuators

Pneumatic Grippers

Cylinders/Actuators
Compact Cylinders
Miniature Cylinders
Rodless Cylinders

Vacuum
Vacuum Ejectors
Vacuum Accessories

Instrumentation
Pneumatic Positioners
Pneumatic Transducers

Air Preparation Equipment
Filters-Regulators-Lubricators
Coalescing Filters

Micro Mist Separators
Fittings

Air Fittings

SMC Pheumatics Inc.

P.O. Box 26640, Indianapolis, IN 46226

Tel: (317) 899-4440 »

FAX: (317) 899-3102



	Overview
	Precautions
	How To Select
	CNA Series
	How To Order (Double Acting Single Rod)
	Specs
	Construction
	Dimensions
	Accessories
	Auto Switch Specs


	CNAW Series
	How To Order (Double Acting Double Rod)
	Specs
	Construction
	Dimensions





